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The following table shows the percentage (%) distribution of 12t class students scoring (i) 95%
and above marks, and (ii) between 90 - 95% marks, along with ratio of Girls to Boys among them
from six schools A-F of Delhi. Total number of students scoring 95% and above matks and between
90 - 95% marks are 6000 and 10000, respectively. Based on the data in the table, answer the
questions that follow.

School-wise Distribution of Students Based on Marks

Scoring 95'% and above Scoring between 90 - 95%
Gehod marks(6000) marks (10000)
I;Fr;f::l?f:s Girls : Boys ?:ﬁiﬁiﬁz Girls : Boys
A 13% I1:8 16% 32
B 18% bt 6% 1:4
C 17% B35 10% Bid
D 8% 7:1 28% 23
E 24% 5:4 21% g5
F 20% 5.8 19% 3:4

Sub questions

Question Number : 1 Question Id : 87827035923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For school E, the difference between the numbers of boys who scored 95% and above marks and
boys who scored between 90 - 95% marks is :

(1) 115

(2) 120

(3) 110

(4) 105

Options :
878270141241.1
878270141242, 2
878270141243. 3

878270141244. 4



Question Number : 2 Question Id : 87827035924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The number of gitls of school B who scored between 90 - 95 % marks is approximately
% of the number of girls of school D Who scored 95% and above marks.

(1) 2857
(2) 2246
(3) 29.95
(4) 3246
Options :

878270141245. 1
878270141246. 2
878270141247.3
878270141248. 4

Question Number : 3 Question Id : 87827035925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The number of bnys of schools E and F logelher who scored 95% and above marks 1s appmximal‘el}f
% less than the number of girls of schools B and E together who scored between

90 - 95 % marks.

(1) 24
(2) 26
(3) 20
4 22
Options :

878270141249. 1
878270141250. 2
878270141251. 3
878270141252. 4



Question Number : 4 Question Id : 87827035926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Average numbers of boys who scored between 90 - 95% marks from the schools A - E together is :

(1) 746
(2) 718
(3) 745
(4) 785
Options :

878270141253. 1
878270141254. 2
878270141255. 3

878270141256. 4

Question Number : 5 Question Id : 87827035927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of the number of boys of school C who scored between 90 - 95 % marks to the
number of boys who scored %% and above marks in the same school ?

4] &i

(2) 10:17
() 10:13
4 12:17
Options :

878270141257. 1
878270141258. 2
878270141259. 3

878270141260. 4



Question Id : 87827035922 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
el @ T8 fere et o B W (A-F) H e 12 H S (i) 95% 7 SEH aAfers, 7 (i) 90
05% o a1 31 T e T ferafoa o e (%) oo e 37 ereferal oft el o1 97 <
T 95% 1 349 S S WG 0 o 991 90 § 95% o ok T A o foreteqd & g
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- aret ferenelt (6000) awet feremlt (10000)
B R i
yfeve L
A 13% 11:5 16% 3:2
B 18% 5.7 6% 1:4
C 17% 3:5 10% 5:3
D 8% 7:1 28% 2:3
E 24% 5:4 2% 9:5
F 20% 5:3 19% 3:4

Sub questions

Question Number : 1 Question Id : 87827035923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 115

(2) 120

(3) 110

(4) 105
Options:
878270141241.1
878270141242. 2
878270141243. 3

878270141244. 4

Question Number : 2 Question Id : 87827035924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e B 1 90 ¥ 95% o af o W F el crgial i1 He Tl D 95% 1 S S o
F 96 A 1 HE F A o Yo & 7
(1) 2857
(2) 2246
(3) 29.95
(4) 3246
Options :
878270141245. 1
878270141246. 2
878270141247.3

878270141248. 4

Question Number : 3 Question Id : 87827035925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1)

) 2
(3) 20
H) 27

Options:

878270141249. 1
878270141250. 2
878270141251.3

878270141252. 4

Question Number : 4 Question Id : 87827035926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el A T E T 5ol el # 90 §95% % a4 of T o At e o A g fo |7

(1) 746
(2) 718
(3) 745
(4) 785
Options :

878270141253. 1
878270141254. 2
878270141255. 3

878270141256. 4

Question Number : 5 Question Id : 87827035927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el C % 90 6 95% o afl 33 W &1 et el o Te SR 31 e o 95% A1 35 A o
I % At el i Hed ST

() 5:9

() 10:17
(3) 10:13

() 12:17
Options:
878270141257. 1
878270141258. 2
878270141259. 3

878270141260. 4

Sub-Section Number : 2
Sub-Section Id : 8782701519
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827035928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“When a pin pricks our finger we withdraw the pin”. Such kind of behaviour is termed as :
1) Emotional Instincts

)

3)  Biological Instincts
4) Intellectual Instincts

E Reflex Actions
[

(

Options :
878270141261. 1
878270141262. 2

878270141263. 3

878270141264. 4

Question Number : 6 Question Id : 87827035928 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

5 1 i Tt et o ot € 9 e i g o €' 3 YR o e 6 e T e
1) YETeHF T A

Options :

878270141261. 1
878270141262. 2
878270141263. 3

878270141264. 4

Question Number : 7 Question Id : 87827035929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ :  Problem based leam’mg is a learner centred a‘pproach.

Statement I1: In guided discnver}f learnmg students are encouragecl to construct their
understandmg without the assistance of teacher guided questions and directions

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2) Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement II is incorrect
(

Options:

878270141265. 1

878270141266. 2

878270141267. 3



878270141268. 4

Question Number : 7 Question Id : 87827035929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141265. 1
878270141266. 2
878270141267.3

878270141268. 4

Question Number : 8 Question Id : 87827035930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Teacher centred methods of teaching are more effective than learner centred
methods in promoting deep leamjng.

Statement Il ; Lecture method involves the use of Dpen-ended problems to encourage critical
thjnkjng and problem snlving.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270141269. 1

878270141270. 2

878270141271.3

878270141272. 4

Question Number : 8 Question Id : 87827035930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270141269. 1
878270141270. 2
878270141271. 3

878270141272. 4

Question Number : 9 Question Id : 87827035931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Mr. Johnson wants to create a mind map for his students to help them understand the concept of
photosynthesis. Which of the following tools would be most suitable ?

(1) Mindmeister

(2
(3
(4

) Edpuzzle

) Nearpod

) Hot potato
Options :
878270141273. 1
878270141274. 2
878270141275. 3

878270141276. 4

Question Number : 9 Question Id : 87827035931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141273. 1
878270141274. 2
878270141275. 3

878270141276. 4

Question Number : 10 Question Id : 87827035932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which DTH channel deals with social science -1, social and behavioural sciences ?
(1) Channel - 02 - Sanskriti

(2) Chhanel - 06 - Vidhik

(3) Channel - 03 - Prabodh

(4) Vhannel - 05 - Prabandhan

=y

Options:

878270141277.1
878270141278. 2
878270141279.3

878270141280. 4

Question Number : 10 Question Id : 87827035932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



878270141277. 1
878270141278. 2
878270141279. 3

878270141280. 4

Question Number : 11 Question Id : 87827035933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Identify the advantages of close-ended questions in survey research :

(A) They allow unusual responses to be derived.

(B) It is easy to process their answers.

(C) They reduce the possibility of variability in the recording of answers.

Choose the correct answer from the options given below :

(1) (A)and (B) Only

() (B)and (C) Only
(3) (A) and (C) Only
(4) (A), (B) and (C)

Options :

878270141281. 1
878270141282. 2
878270141283.3

878270141284. 4

Question Number : 11 Question Id : 87827035933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270141281.1
878270141282. 2
878270141283. 3

878270141284. 4

Question Number : 12 Question Id : 87827035934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A researcher gives the following options to a respondent while asking a question during a survey.
[dentify the options which suffer from ambiguity :

(A) Very often

(B) Quite often

(C) Not very often

(D) Not at all

Choose the correct answer from the options given below :

() () (8)and (C) Only

®) ®) (0 and (D) Onl

(3) (A), (C) and (D) Only
@ (A) (B (O and D
Options :

878270141285. 1



878270141286. 2
878270141287. 3

878270141288. 4

Question Number : 12 Question Id : 87827035934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 1 % S T SR 9 TS W S el o e fofian foemen S €1 A foered o
e FITIT oW Serieral T et |

Options :

878270141285. 1
878270141286. 2
878270141287.3
878270141288. 4

Question Number : 13 Question Id : 87827035935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the advantages of content analysis :
(A) It is a very transparent research method.

(B) It is often referred to favourably as an unobtrusive method.
(C) Itis a highly flexible method.

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (B) and (C) Only

(3) (A)and (C) Only

(4) (A), (B) and (C)

Options:

878270141289. 1

878270141290. 2

878270141291. 3

878270141292. 4

Question Number : 13 Question Id : 87827035935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141289. 1

878270141290. 2



878270141291. 3

878270141292. 4

Question Number : 14 Question Id : 87827035936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When two variables are related in such a way that when one increases, so does the other, you can
conclude that :

(I)  There is no problem with directionality.

(2)  The two variables are positively associated.

(3)  There are no latent variables affecting the relationship.

(4)  There is a third variable responsible for the causation between them.
Options :

878270141293. 1

878270141294. 2

878270141295. 3

878270141296. 4

Question Number : 14 Question Id : 87827035936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141293. 1



878270141294. 2
878270141295. 3

878270141296. 4

Question Number : 15 Question Id : 87827035937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the measures of dispersion :

(A) Range

(B) Quartile deviation

(C) Sum of the deviations about mean

(D) Standard deviation

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

() (B), (C) and (D) Only
(3)  (A), (B) and (D) Only
4) (A), (C) and (D) Only

Options :

878270141297. 1
878270141298. 2
878270141299. 3
878270141300. 4

Question Number : 15 Question Id : 87827035937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270141297.1
878270141298. 2
878270141299. 3

878270141300. 4

Question Number : 16 Question Id : 87827035938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The process by whicha messageis transmitted via some form of medium 1s identified as
communication :

(1) Formative

(2) Inter-connective
(3) Mediated

(4) Formal
Options :
878270141301. 1
878270141302. 2
878270141303. 3

878270141304. 4



Question Number : 16 Question Id : 87827035938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270141301. 1
878270141302. 2
878270141303. 3

878270141304. 4

Question Number : 17 Question Id : 87827035939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In analng media, contents are :

(1) Non-linear

(2) Linear

(3) Interactive

(4) Customised
Options:

878270141305. 1
878270141306. 2
878270141307. 3

878270141308. 4



Question Number : 17 Question Id : 87827035939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141305. 1
878270141306. 2
878270141307. 3
878270141308. 4

Question Number : 18 Question Id : 87827035940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The western communication concept is characterised by :
(A) Polydirectionality

(B) Unidirectionality

(C) Transfer of meaning

(D) Message centredness

(E) Flexible sequencing

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (E) Only
(3) (A), (B) and (E) Only
(4) (B), (C) and (D) Only

Options:



8782701413009. 1
878270141310. 2
878270141311. 3

878270141312. 4

Question Number : 18 Question Id : 87827035940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141309. 1

878270141310. 2

878270141311.3

878270141312. 4

Question Number : 19 Question Id : 87827035941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement [;  Due to technolngical developments, communication has become mass
communicahon,

Statement I1:  With the arrival of satellites and computers, communication has become more
efficient and complex than ever before.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270141313. 1

878270141314. 2

878270141315. 3

878270141316. 4

Question Number : 19 Question Id : 87827035941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141313. 1

878270141314. 2



878270141315. 3
878270141316. 4

Question Number : 20 Question Id : 87827035942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I :  Environmental communication includes human representation of nature.

Statement Il For the purpose of promoting environmental communication, only mainstream
conventional media should be employed.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270141317. 1

878270141318. 2

878270141319. 3

878270141320. 4

Question Number : 20 Question Id : 87827035942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270141317. 1

878270141318. 2

878270141319. 3

878270141320. 4

Question Number : 21 Question Id : 87827035943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Certain books are bought at prices ranging from 400 to T 500 per book and are sold at prices
ranging from ¥ 500 to ¥ 700 per book. Find the greatest possible profit that might be made in selling
10 books.

(1) %4000

(2) 3000

(3) ¥ 3800

(4) 7000
Options :
878270141321. 1
878270141322. 2
878270141323. 3

878270141324. 4



Question Number : 21 Question Id : 87827035943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) T 4000

(2) 3000
(3) 3800
(&) 7000
Options :
878270141321. 1
878270141322. 2
878270141323. 3

878270141324. 4

Question Number : 22 Question Id : 87827035944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A woman, while infroducing a man, says “His wife is the only daughter of my father”. How is that
man related to the woman ?

(1) Father in law

(2
3
(

) Brother in law
) Husband

4)  Brother
Options:
878270141325. 1
878270141326. 2
878270141327.3

878270141328. 4



Question Number : 22 Question Id : 87827035944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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878270141325. 1
878270141326. 2
878270141327.3

878270141328. 4

Question Number : 23 Question Id : 87827035945 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (?) in the series given below.
1,3,2,5,3,7,49:5,11,6 137

1) 15
2) 7
(3) 19
4) 8
Options:

878270141329. 1
878270141330. 2
878270141331.3

878270141332. 4



Question Number : 23 Question Id : 87827035945 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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(I) 15
(2) 7
(3 19
(4) 8
Options :

878270141329. 1
878270141330. 2
878270141331. 3
878270141332. 4

Question Number : 24 Question Id : 87827035946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain code :

(a) 3245 means "you must study hard’

(b) 567" means ‘hard work pays’

(c) 614" means ‘work and study’

Which of the following are the codes for ‘pays’ and "work” respectively ?

Choose the correct answer from the D]Jtii.‘ll'lS given below :

(1) 1&5
(2) 5&6
(3 7&6
4 4&5
Options:

878270141333. 1



878270141334. 2
878270141335. 3

878270141336. 4

Question Number : 24 Question Id : 87827035946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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(1) 1315
(2) 53R6
(3) 7#R6
(4) 43R5
Options :

878270141333. 1
878270141334. 2
878270141335. 3

878270141336. 4

Question Number : 25 Question Id : 87827035947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A policeman goes 20 meters towards South and then tums to his right and walks 40 meters. He
again turns to his left and walks 10 meters. How far is he now from his starting point ?

(1) 37.5 meters

2) 50 meters

2
(3) 3042 meters
4)

4) 40 meters

Options:

878270141337.1
878270141338. 2
878270141339. 3

878270141340. 4

Question Number : 25 Question Id : 87827035947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 375

(2) 50"

(3) 3042 T

(4) 40 "
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Options :

878270141337.1
878270141338. 2
878270141339. 3
878270141340. 4

Question Number : 26 Question Id : 87827035948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

If the statement - “No professors are materialists” is given as true, then which of the fo]lowmg
statements could be inferred to be true ?

(I)  All professors are materialists.

(2) Some professors are materialists.

(3) Some professors are not materialists.
(4)  Some materialists are professors.
Options :

878270141341. 1

878270141342. 2

878270141343. 3

878270141344. 4

Question Number : 26 Question Id : 87827035948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141341. 1

878270141342. 2

878270141343. 3

878270141344. 4

Question Number : 27 Question Id : 87827035949 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is logically equivalent to the statement- “No professors are
materialists” ?

(I) Some non-materialists are not non-professors

(2) Some professors are non-materialists

(3)  All professors are non-materialists

(4)  All non-materialists are non-professors

Options :

878270141345. 1

878270141346. 2

878270141347.3

878270141348. 4

Question Number : 27 Question Id : 87827035949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141345. 1
878270141346. 2
878270141347.3

878270141348. 4

Question Number : 28 Question Id : 87827035950 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following propositions are so related that they cannot both be true, although they
can both be false ?

(A) No professors are materialists

(B) Some professors are materialists

(C) Al professors are materialists

(D) Some professors are not materialists

Choose the correct answer from the options given below :

(1) (A)and (C) Only

() (B)and (D) Only
(3 (B)and (C) Only
(4) (A) and (D) Only
Options :

878270141349. 1
878270141350. 2
878270141351. 3

878270141352. 4

Question Number : 28 Question Id : 87827035950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fowafeian # - o fiaal o yarm & gafem & f 3 9 900 8 & weh € e @ 30 e @ ket
&

(A) 1 T i) 7 € |

(B) B WA Wit ¢

(€) T Ty sifere €|

(D) %9 WA i) Tl ¢ |

7 feu T foered # | W SO T e

Options :

878270141349. 1
878270141350. 2
878270141351. 3

878270141352. 4

Question Number : 29 Question Id : 87827035951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"To solve our transportation problems, we have to put more money into production of bicycles.
The CEO of ABCD Company limited says so. “Which of the following fallacy is committed in the
above argument ?

(I) Slippery Slope

(2) Appeal to Inappropriate Authority

(3) Ad Hominem
(

) Hasty Generalisation

ey

Options :
878270141353. 1

878270141354. 2



878270141355. 3

878270141356. 4

Question Number : 29 Question Id : 87827035951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270141353. 1
878270141354. 2
878270141355. 3

878270141356. 4

Question Number : 30 Question Id : 87827035952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

According to Classical Indian School of logic (Nyaya) which fallacy is commutted in the following
statement ?

“The sky rose is fragrant, because it is a rose like the rose on the earth”.

) Asidhrana

) Badhita
3)  Viruddha
)

ﬁﬁra}f{l siddha
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Options :



878270141357. 1
878270141358. 2
878270141359. 3

878270141360. 4

Question Number : 30 Question Id : 87827035952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141357. 1
878270141358. 2
878270141359. 3

878270141360. 4

Question Number : 31 Question Id : 87827035953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion are incorrectly matched ?
(1)  LED - Light Emitting Diode

) CRT - Cathode Ray Tube

) LCD - Liquid Control Display

) VDU - Video Display Unit

Options :



878270141361. 1
878270141362. 2
878270141363. 3

878270141364. 4

Question Number : 31 Question Id : 87827035953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141361. 1
878270141362. 2
878270141363. 3

878270141364. 4

Question Number : 32 Question Id : 87827035954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Businesses use ICT to build positive customer relations by :
(1) Calling customers at home
) Creating targeted marketing campaigns
3) Placing pop-up advertisements on web sites
) Sending unsolicited e-mails
Options :

878270141365. 1



878270141366. 2
878270141367. 3

878270141368. 4

Question Number : 32 Question Id : 87827035954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141365. 1
878270141366. 2
878270141367.3
878270141368. 4

Question Number : 33 Question Id : 87827035955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement [ : (25)1{,j = (00100101)2
Statement 11 (00[}11[}11]2 & (18)1@

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270141369. 1

878270141370. 2

878270141371.3

878270141372. 4

Question Number : 33 Question Id : 87827035955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141369. 1

878270141370. 2

878270141371.3



878270141372. 4

Question Number : 34 Question Id : 87827035956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is/are true ?
(A) BIOS is an example of Application Software
(B) A utfility software is an example of firmware
(C) Spyware is an example of malware

Choose the correct answer from the options given below :
(1) (A) Only

(2) (B) Only

(3) (C) Only

(4) (B) and (C) Only

Options :

878270141373. 1

878270141374. 2

878270141375. 3

878270141376. 4

Question Number : 34 Question Id : 87827035956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270141373. 1
878270141374. 2
878270141375. 3

878270141376. 4

Question Number : 35 Question Id : 87827035957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements regarding guided and unguided media in computer Networking
are correct ?

(A) Guided media transmission supports higher data speeds than unguided media transmission
(B) Guided media is subjected to less interference than unguided media

(C) Unguided media transmission is more secure than guided media transmission

Choose the correct answer from the options given below :

() (A)and (B) Only

(2) (A)and (C) Only

(3 (B) and (C) Only

(4) (A), (B) and (C)

Options :

878270141377. 1

878270141378. 2



878270141379. 3
878270141380. 4

Question Number : 35 Question Id : 87827035957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270141377. 1
878270141378. 2
878270141379. 3

878270141380. 4

Question Number : 36 Question Id : 87827035958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the fD]lDWiJ‘lg statements are true about hardness in water ?
[t 1s caused b:.; ions of calcium and magnesium

(
(B) It is of two types-temporary and permanent

(C) Permanent hardness can easily be removed by heating the water
(D) Hardness causes scales in hot water pipe systems

(E) Hardness decreases the soap consumption

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

(2)  (A), (B) and (D) Only
3)  (B), (©) (D) and (E) Only
4) (Q), (D) and (E) Only
Options:

878270141381. 1
878270141382. 2
878270141383. 3

878270141384. 4

Question Number : 36 Question Id : 87827035958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141381. 1

878270141382. 2

878270141383. 3

878270141384. 4

Question Number : 37 Question Id : 87827035959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the full form of CBOD ?

(1) Comparative Biochemical Oxygen Demand
2
(3) Carbonaceous Biochemical Oxygen Demand
(4) Classified Biochemical Oxygen Demand

Common Biochemical Oxygen Demand

Options :

878270141385. 1
878270141386. 2
878270141387. 3

878270141388. 4



Question Number : 37 Question Id : 87827035959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141385. 1
878270141386. 2
878270141387. 3

878270141388. 4

Question Number : 38 Question Id : 87827035960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  RSPM are those suspended particulate matters (SPM) whose aerodynamic
diameter is more than 10 micron,

Statement I :  Fine particles are those SPM whose aerodynamic diameter is less than 2.5 micron.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(

4) Statement I is incorrect but Statement II is correct
Options:

878270141389. 1



878270141390. 2
878270141391. 3

878270141392. 4

Question Number : 38 Question Id : 87827035960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141389. 1

878270141390. 2

878270141391. 3

878270141392. 4

Question Number : 39 Question Id : 87827035961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which one of the followjng is 1'espnnsible for the negative radiative [orcing or moling of the
atmosphere ?

(I) Water vapour
(2
i
(4

Tmpospheric Ozone

]

; Stratospheric Ozone
) Black carbon
Options :
878270141393. 1
878270141394. 2
878270141395. 3

878270141396. 4

Question Number : 39 Question Id : 87827035961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fawferfen © 9 9 aTHvEe o TR fof# gy (Fedfea wi) sreen vider o fo Sem
&7

(1) ¥ am
(2) HHEEr S
(3) HWAAHE S
(4) T FH
Options :

878270141393. 1
878270141394. 2
878270141395. 3
878270141396. 4

Question Number : 40 Question Id : 87827035962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement [ :  Montreal pmtocol is a multi-lateral environmental agreement that regulates the
pmduction and consumption of neaﬂy 100 man made chemicals.

Statement I :  Montreal protocal is an international treaty designed to protect the environment,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3)  Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct
Options :

878270141397. 1

878270141398. 2

878270141399. 3

878270141400. 4

Question Number : 40 Question Id : 87827035962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141397. 1



878270141398. 2
878270141399. 3

878270141400. 4

Question Number : 41 Question Id : 87827035963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The first Indian Universities Commission (1902) was headed by :

(1) Gurudas Bannerjee

(2) Syed Hasan Bilgrami

(3) William Adam

(4) Thomas Raleigh
Options:
878270141401. 1
878270141402. 2
878270141403. 3

878270141404. 4

Question Number : 41 Question Id : 87827035963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ty Y favafeened 1@ (1902) & %A shid &2

(1) TESE sl
(2) HFE A oo
(3) fafaam wen
(4) T
Options:

878270141401. 1

878270141402. 2



878270141403. 3

878270141404. 4

Question Number : 42 Question Id : 87827035964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwing were established dur'mg the rule of East [ndia company in [ndia ?

(A) St.Stephen’s College, Delh

(B) Hislop College, Nagpur

(C) Fort William College, Calcutta
(D) Serampore College, Serampore
(E) Poona Sanskrit College, Pune

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

() (B), (C) and (D) Only
(3) (A), (B) and (E) Only
4) (C), (D) and (E) Only
Options :

878270141405. 1
878270141406. 2
878270141407. 3

878270141408. 4

Question Number : 42 Question Id : 87827035964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



YRd H 2 S Ifed FO & I § Fefatad @ 9 feget e g ot ?
(A) He wftrg Fiew, feeet

(B) fewemy e, TR

C) Wi faferam sicr, sl

Options :

878270141405. 1
878270141406. 2
878270141407.3
878270141408. 4

Question Number : 43 Question Id : 87827035965 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - 11
(Committee/Commission) (Chairman)
(A) Scientific Manpower Committee (1947) ()  KL. Shrimali
(B) Committee on Higher Education in rural areas  (II) 5.5. Bhatnagar
(C) Committee on Model Act for universities, 1961 (I} Sunith kumar chatterji
(D) Sanskrit Commission (IV) D.S Kothari

Choose the correct answer from the options given below :
(1) (AHD), (B)-(I), (C-(), (D)-{IV)
(@ (A)HI, B0, (©)-(1v), (D))
(3 (1), (B)(IV), (1), (D)-(I)
( (

(A
) (A )
1) (AHIV), (BHIL), (CHIY, (D))

)
A)-
Options :
8782701414009. 1
878270141410. 2
878270141411. 3

878270141412. 4

Question Number : 43 Question Id : 87827035965 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(C) Tovaforer & fau wre sfufmm oo wfufd, 1961 (1) 90 FAR <l
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(1) (A)(D), (B}, (CHIW), (D)-IV)

(2) (A, B)-0), (CH1V), (DHI)
() (AR, BHIV), (OAD), (D}I)
(4)  (ARIV), (B)-(I), (OAH), (D)-0)

Options :

878270141409. 1
878270141410. 2
878270141411.3
878270141412. 4

Question Number : 44 Question Id : 87827035966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement [ ;  The ancient university of Sridhanya katak was situated on the banks of river
Yamuna.

Statement II :  Sridhanya katak attained celebrity as the seat of both Brahmanical and Buddhist
learning during the time of Siddha Nagarjuna.

In the light of the above statements, choose the most appropriate answer from the options given

below

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement II are incorrect

3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270141413. 1

878270141414. 2

878270141415. 3

878270141416. 4

Question Number : 44 Question Id : 87827035966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) YR 1 3 e 11 S o €

(3) 1T § Tl T 1L 3 2

(4) IR S ¢, Al o 11 5 ¢

Options :

878270141413. 1



878270141414. 2
878270141415. 3

878270141416. 4

Question Number : 45 Question Id : 87827035967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In 1948, under whose chaipersonship a University Commission was appointed with the purpose
of reconstruction of university education to meet the demand for scientific, technical and other
manpower needed for the socio-economic development of the country ?

(1) Dr. Zakir Husain

(2) Dr. 5 Radhakrishnan

(3) Dr. AL Mudaliar

(4) Dr. DS. Kothari

Options :

878270141417. 1

878270141418. 2

878270141419. 3

878270141420. 4

Question Number : 45 Question Id : 87827035967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

&1 % YT - Aok fo o fefw bfie ek, TRl qen SR o I A 0 T % few
1948 ¥ e creaegen  foforerers i o vTet o Sgev § fovaforrr s @ fofem & o6 2

(1) @ s g

(2) €. T, T
() @ v e
(4) ¥ g R

Options:



878270141417. 1
878270141418. 2
878270141419. 3

878270141420. 4

Sub-Section Number : 3
Sub-Section Id : 8782701520
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827035968 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the passage and answer the questions that follow :

Project Tiger turned 50 years recently. An often repeated headline was how the numbers have
increased from 2,967 individuals in 2018 to 3,167 in 2022. This hides the bitter truth : Indians
aren't going to compromise Western lifestyles for the survival of the Tiger. Most middle class Indians
would loathe to give up their second, investment home or driving to the hills on a multilaned
highway for the national animal.

You also can't change the needs of a tiger - it is a large, solitary animal. A female tiger needs
about 15 square kilometres with a good prey base. If she reproduces, those cubs will require
additional space. Data shows 30% of the tigers live outside protected areas, i.e in our midst. The
more we fragment their habitat with urbanization, highways and industrial parks, the more they
will be forced into unprotected areas.

Let's modify our approach. I advocate of three results by the 75th anniversary of project
Tiger. First, instead of endlessly increasing tiger population, India can iden t'Lfy and achieve a metric,
not much higher than the current numbers. Remember, 1000 tigers already roam around in farms
and villages, more will be a disaster. Second, let's better protect what we have. Keeping protected
tiger habitat undisturbed is key. Investment in keeping unprotected ecosystems intact should be
financially viable and part of Corporate Social Responsibility (CSR) and more. Third, reducing
confrontation with humans is essential. Monitoring and communications technology are key to
this. Compensation for live stock killed must be rapidly assessed and pegged to market rates. For
the next quarter century, let's think quality.

Sub questions



Question Number : 46 Question Id : 87827035969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Over the last few years, the population of the tiger has :
(1) Decreased

(2) Remained static

(3) Increased

(4) Declined substantially

Options :

878270141421. 1

878270141422. 2

878270141423. 3

878270141424. 4

Question Number : 47 Question Id : 87827035970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An increase in tiger population will result in :

(1) Tigers killing each other

(2) Tigers dying

(3) Tigers posing a threat to the farms and villages nearly
(4) Tigers eating their own cubs

Options :

878270141425. 1

878270141426. 2

878270141427. 3

878270141428. 4

Question Number : 48 Question Id : 87827035971 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“The bitter truth” refers to :

(1) Tigers living outside protected areas
(2) Human killing tigers

(3) The conflicting needs of human beings and tigers
(4) Tigers killing human beings

Options :

878270141429. 1

878270141430. 2

878270141431. 3

878270141432. 4

Question Number : 49 Question Id : 87827035972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the wiiter, one of the aims of project Tiger in the next quarter century should be :
(1) Increasing tiger population

(2) Training the tigers to live in a contained area

(3)  Protecting the existing tiger population

(4)  Ensuring that the government stops building highways
Options:

878270141433. 1
878270141434. 2
878270141435. 3
878270141436. 4

Question Number : 50 Question Id : 87827035973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to the writer, the 75 Anniversary of project Tiger should not aim at the following :
(A) Keep the protected habitats infact

(B) Keep the tiger population about the same as at present

(C) Live stock killed by tigers should be adequately compensated for

(D) Focus on quantity instead of quality

Choose the correct answer from the options given below :

(1) (A)and (B) Only

@) () (C) and (D) Only

(3) (C) and (D) Only

4 () Only

Options :

878270141437.1
878270141438. 2
878270141439. 3

878270141440. 4

Question Id : 87827035968 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827035969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
forat e il # ST o we
(1) <hH o7 @
(2) ferafigs

(3) FeE®
(4) 9 firee e ©

Options :



878270141421. 1
878270141422. 2
878270141423. 3

878270141424. 4

Question Number : 47 Question Id : 87827035970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
el =1 G ° gfg o ufomy g
(1) & 399 H Tk - O R AR o |
) TS T S |
) =TS freRead] @i ue el o faw way & S |
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Options :
878270141425. 1
878270141426. 2
878270141427. 3

878270141428. 4

Question Number : 48 Question Id : 87827035971 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



878270141429. 1
878270141430. 2
878270141431. 3

878270141432. 4

Question Number : 49 Question Id : 87827035972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141433. 1
878270141434.2
878270141435. 3

878270141436. 4

Question Number : 50 Question Id : 87827035973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270141437. 1
878270141438. 2

878270141439. 3
878270141440. 4

Library and Information Science

Section Id : 878270875
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 8782701521
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 87827035974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
National Mission on Libraries was set up by
(1) Ministry of Human Resource Development, GOI
) Ministry of Culture, GOI
(3) Ministry of IT, GOI
) Ministry of Science and Technology, GOI
Options :
878270141441.1
878270141442. 2
878270141443. 3

878270141444. 4

Question Number : 51 Question Id : 87827035974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T Teaarerd foem &1 e fhger g =t 7t of 2
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(2) HEHRG HACHE, YRA-HERR

(3)  GAA-UrEifTeR! WA, WRA-HTHER

(4) T TA QTR WATed, YRA-EThN

Options :
878270141441.1

878270141442. 2



878270141443. 3

878270141444. 4

Question Number : 52 Question Id : 87827035975 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

_isaroutine knowledge about which the expert is conscious and often resides in short

term memory.

(1) Procedural knowledge

(2) Declarative knowledge

(3) Semantic knowledge

(4) Episodic knowledge

Options :

878270141445. 1
878270141446. 2
878270141447.3

878270141448. 4

Question Number : 52 Question Id : 87827035975 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270141445, 1

878270141446. 2



878270141447. 3

878270141448. 4

Question Number : 53 Question Id : 87827035976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[IPA stands for :

(1) Indian Intellectual Property Administration

(2) International Institute of Public Administration

(3) International Intellectual Property Alliance

(4) International Independent Property Administration
Options :

878270141449. 1
878270141450. 2
878270141451. 3

878270141452. 4

Question Number : 53 Question Id : 87827035976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141449. 1
878270141450. 2

878270141451. 3



878270141452. 4

Question Number : 54 Question Id : 87827035977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The origin of the discipline of Information Studies could be traced to the founding of
(1) UNESCO

(2) International Institute of Bibliography

(3)  The British Library

(4)  American Library Association

Options :

878270141453. 1

878270141454. 2

878270141455. 3

878270141456. 4

Question Number : 54 Question Id : 87827035977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(3) = fafew amed
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Options :

878270141453. 1
878270141454. 2
878270141455. 3
878270141456. 4



Question Number : 55 Question Id : 87827035978 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
‘Dr. S. R. Ranganathan : A Tribute” was published by :
(1) Indian Library Association
) The National Library, Kolkata
(3) IASLIC
)}  University of Madras
Options :
878270141457. 1
878270141458. 2
878270141459. 3

878270141460. 4

Question Number : 55 Question Id : 87827035978 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

. TH, &N, A ; T o2 (Dr. S. R, Ranganathan : A Tribute) 5 Serard =i 7

(1) YRdTE JEeed g9
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(

() emEgfF

(4) wEM favefemmem
Options:

878270141457. 1
878270141458. 2
878270141459. 3

878270141460. 4



Question Number : 56 Question Id : 87827035979 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who was not the founding member of ILA in 1933 ?
(1) S Bashiruddin

2)  Wali Mohammad

3) T C Dutta

4) S R Ranganathan

S — —

Options :

878270141461. 1
878270141462. 2
878270141463. 3

878270141464. 4

Question Number : 56 Question Id : 87827035979 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

7= H A 1 o, TS, U o T FAA G2 (EIHfen WeR) 7 o917
(1) TH. weiEgEH

(2) dclt Higwg
(3) 2. e
(4) TH R THEEH

Options :

878270141461. 1
878270141462. 2
878270141463. 3

878270141464. 4

Question Number : 57 Question Id : 87827035980 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following has implication on the first law of library science ?
(1) Location

(2) Obligation of the state
(3) Resource sharing
(4) Method of circulation

Options :

878270141465. 1
878270141466. 2
878270141467.3

878270141468. 4

Question Number : 57 Question Id : 87827035980 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

71 ° ¥ formen qEaekTerd Torem =1 9w fafy o2 fafedned 22

(1) e

(2) TSI I ATl

(3) HHEA HEWrsH

(4) OfETeE ol
Options:

878270141465. 1
878270141466. 2
878270141467. 3

878270141468. 4

Question Number : 58 Question Id : 87827035981 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Report of the Advisory Committee for Libraries is also known as :
(1) Parry Committee Report

(2) Fyzee Report

(3) Sinha Committee Report

(4) Ekbote Committee Report

Options :

8782701414609. 1

878270141470. 2

878270141471.3

878270141472. 4

Question Number : 58 Question Id : 87827035981 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

JeiehTeTd G FelreshR |iHf 1 gidered e # | fFe ®7 8 i @ 7

(1) U afafa gfeag

(2) Sl gfderEd

(3) fo=r wfufa gftesd

4) TR gl gfeee
Options :

8782701414609. 1
878270141470. 2
878270141471. 3

878270141472. 4

Question Number : 59 Question Id : 87827035982 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Best way to begin a search for information is :
(1) Search Google

(2) Define user’s information needs
(3) Search for sources

(4) Some how start searching
Options :

878270141473. 1
878270141474. 2
878270141475. 3
878270141476. 4

Question Number : 59 Question Id : 87827035982 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
TRt g 1 W 1 gaTay e |
(1)  TFTeT o WA H s
(2) SYANTR Il GIAT i eI HI GRATYT FHET
(3) Edi % fore @ret e
(4) ToREl off TR H @IS & FE
Options:
878270141473. 1
878270141474. 2
878270141475. 3

878270141476. 4

Question Number : 60 Question Id : 87827035983 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who called Tertiary sources as sources of information which are last to appear and mostly do not
contain subject knowledge ?

(1) L. Shores

(2) W.A Katz

(3) CW Hanson
(4)  Denis Grogan
Options:
878270141477. 1
878270141478. 2
878270141479. 3

878270141480. 4

Question Number : 60 Question Id : 87827035983 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
" e T A 8 o i € i i 2 € o fored anfeeere: fe et 9 Y € &' % e
forer gm0 femn T € ¢
1) w9

2) =T e

3) Hw, W

4 I

Options :

(
(
(

878270141477. 1
878270141478. 2
878270141479. 3
878270141480. 4

Question Number : 61 Question Id : 87827035984 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following is not a non documentary source of information ?
(1) Database vendors

(2) Extension workers
(3) Product bulletins
(4) Internet

Options :

878270141481. 1
878270141482. 2
878270141483. 3

878270141484. 4

Question Number : 61 Question Id : 87827035984 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafea o | & eTyerdl g=1 &d © 2
(1) <zreg fosk
(2) TR el
(3) SR HHMER
(4) 3T
Options :

878270141481. 1
878270141482. 2
878270141483. 3

878270141484. 4

Question Number : 62 Question Id : 87827035985 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Dr. S. R. Ranganathan was the president of ILA in the year :

(1) 1950
(2) 1960
(3) 1945
(4) 1940
Options:

878270141485. 1
878270141486. 2
878270141487. 3

878270141488. 4

Question Number : 62 Question Id : 87827035985 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1. TH. 3R, YA R 9 3T, Uel. W a7ege) 9 7

(1) 1950
(2) 1960
(3) 1945
(4) 1940

Options :

878270141485. 1
878270141486. 2
878270141487. 3
878270141488. 4

Question Number : 63 Question Id : 87827035986 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Chairman of the Advisory of Standard in IFLA is
(1) Deanna White

(2) PatRiva

(3) Victoria Owen

(4) Kalpana Dasgupta
Options:

878270141489. 1
878270141490. 2
878270141491. 3

878270141492. 4

Question Number : 63 Question Id : 87827035986 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ST o ‘TSRS 3% LSSy & FELHA hid € 7

(1) =IF =12

(2) Heda

(3) faRifaEn oA

(4) BT ST
Options :

878270141489. 1
878270141490. 2
878270141491. 3

878270141492. 4

Question Number : 64 Question Id : 87827035987 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The name of the Scheme of RRRLF designed to run in Public Private Partnership (PPP) mode is
(1)  Development of Rural book deposit

(2) Establishment of RRRLF children corner

(3)  Development of Library on wheel service

(4)  Creation of Divyangjan facilities for readers

Options:

878270141493. 1

878270141494. 2

878270141495. 3

878270141496. 4

Question Number : 64 Question Id : 87827035987 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 31, 37, U, 0P, ! 39 W 1 fafed & 3 vfes-weae TeRfn ore § @ ¢
(1) @ 7% feufsre #1 faFm

) LR AT T faeed FR

) eSS Ha o T

) TesarTer SwEEE % feru gfadn o

Options :

878270141493. 1

878270141494. 2

878270141495. 3

878270141496. 4

Question Number : 65 Question Id : 87827035988 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



RRRLF took initiation to develop District Youth Resource Centre (DYRC) in the year :
(1) 2002-03

(2) 2005-06

(3) 2010-11

(4) 2015-16
Options:
878270141497. 1
878270141498. 2
878270141499. 3

878270141500. 4

Question Number : 65 Question Id : 87827035988 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S ST ST, WAL, A for o forem e wenet 3 (e o, ) forfig o o1 e 3

(1) 2002-03
(2) 2005-06
(3) 2010-11
(4) 2015-16
Options :

878270141497. 1
878270141498. 2
878270141499. 3
878270141500. 4

Question Number : 66 Question Id : 87827035989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Calcutta Public Library was opened to the public in 1936 in the residence of
(1) ] M Stoqueler

(2) John Macfarlane

(3) F P Strong

(4) ] A Chapman

Options:

878270141501. 1

878270141502. 2
878270141503. 3

878270141504. 4

Question Number : 66 Question Id : 87827035989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1936 T Ferahdl Ufecish eesid] SHEM & fod frger 2memE o @i 724 ?

(1) <.UH. B

(2) S Aol

(3) T Fm

(4) WU, FqHA
Options :

878270141501. 1
878270141502. 2
878270141503. 3

878270141504. 4

Question Number : 67 Question Id : 87827035990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[n which year, the Second edition of LC List of Subject Headings was published ?

(1) 1923
(2) 1924
(3) 1919
(4) 1912
Options:

878270141505. 1
878270141506. 2
878270141507. 3

878270141508. 4

Question Number : 67 Question Id : 87827035990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T sirdek 61 wat o gt o1 facia SR fohg 99 yehitord g o917

(1) 1923
(2) 1924
(3) 1919
(4) 1912

Options :

878270141505. 1
878270141506. 2
878270141507. 3
878270141508. 4

Question Number : 68 Question Id : 87827035991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The form of revision adopted by DDC to resolve the conflict between change and stability is called :
(I) Abridged Schedule

(2) Phoenix Schedule

(3) Augmented Schedule

(4) Relative index

Options:

878270141509. 1

878270141510. 2

878270141511. 3

878270141512. 4

Question Number : 68 Question Id : 87827035991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e a4 T o o gt % e & fau 2 < | g SroRmn e uftenes B

Options :

878270141509. 1
878270141510. 2
878270141511.3

878270141512. 4

Question Number : 69 Question Id : 87827035992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FRBR stands for :

(1) Functional Requirements for Bibliography Records

(2) Functional Requirements for Bibliographic Recordings
(3) Functional Requirement for Bibliographic Records

(4) Fundamental Requirements for Bibliographic Records

Options:

878270141513. 1
878270141514. 2
878270141515. 3

878270141516. 4

Question Number : 69 Question Id : 87827035992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

UF SR S SR 1 P €Y S ¢

(1) aETa Rz wR fSafaanms Reea
(2) TS Rgamdcs wR faafaaniees e
(3) TS RFaEHe wR fSEfaamtrs sy
(4) Hemed EEmaizy wR faafaamimes g
Options :

878270141513. 1

878270141514. 2

878270141515. 3

878270141516. 4

Question Number : 70 Question Id : 87827035993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the phase relation for the given fitle “Rural and the Urban folk culture”.
(I) Influence phase relation

(2) Bias phase relation

(3)  Difference phase relation

(4) General phase relation

Options:

878270141517.1

878270141518. 2

878270141519. 3

878270141520. 4

Question Number : 70 Question Id : 87827035993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

oy en 9TRd @ Tpfa" v o feru green e (Phase Relation) i TS 1 :
(1) ol e §ay (3Rug e fetvm)

(2) SR e e (a9 Y o)
(3) fave yrawen wey (fewin v frerm)
(4) W TR oY (S T o)

Options :

878270141517. 1
878270141518. 2
878270141519. 3
878270141520. 4

Question Number : 71 Question Id : 87827035994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who among the following is not the main contributor to the Total Quality Management approach ?
(I)  Philip B Crosby

(2) Mary Parker Follett

(3) Joseph M Juran

(4) W Edwards Deming

Options:

878270141521. 1
878270141522. 2
878270141523. 3

878270141524. 4

Question Number : 71 Question Id : 87827035994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frfafea § § #F 9 ToE JeeE 39T H T HedrTddl el § 7
(1) fwfera =i e

(2) T R Bl

(3) IHE TH A

(4) =g, Ugagy e
Options :

878270141521. 1
878270141522. 2
878270141523. 3

878270141524. 4

Question Number : 72 Question Id : 87827035995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is not the phase involved in development of a system in System Analysis ?
(I) System Implementation

(2)  System Design

(3)  System Analysis

(4)  System Monitoring

Options:

878270141525. 1

878270141526. 2

878270141527. 3

878270141528. 4

Question Number : 72 Question Id : 87827035995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

1 forverow (fen et ) & womett o forerrg % forg Favaifera o o o wnfiver = &2

(1) o FEE
(2) CEEIRET
(3) T forerm
(4) o
Options :
878270141525. 1
878270141526. 2
878270141527.3

878270141528. 4

Question Number : 73 Question Id : 87827035996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



- is the process of devising the mechanism through which the efforts of the people are
directed and coordinated towards goal achievement.

(1) Staffing

(2) Leading

(3) Controlling

(4) Organising
Options:
878270141529. 1
878270141530. 2
878270141531. 3

878270141532. 4

Question Number : 73 Question Id : 87827035996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@ e & foe wem W S T G % W el 9 S B £
() I
(2) wifgT
(3) e
(4) SRS
Options :
878270141529. 1
878270141530. 2
878270141531.3

878270141532. 4

Question Number : 74 Question Id : 87827035997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is two-card system of charging and discharging ?
(1) Browne Issue System

(2) Ledger System

(3) Register System

(4) Day book System

Options:

878270141533. 1

878270141534. 2

878270141535. 3

878270141536. 4

Question Number : 74 Question Id : 87827035997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

fefafiga 8§ 9 s fim &t S-S 9ol i & ?
(1) T34 399 WoTeA

(2) TSI YOI

(3) ISR gomed

(4) 2 & JUTc
Options :

878270141533. 1
878270141534. 2
878270141535. 3

878270141536. 4

Question Number : 75 Question Id : 87827035998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



uses unidirectional antennas that send signals in one direction.

(1)  Fiber optics

(2) Radio waves
(3) Microwaves

(4) Infrared waves

Options:

878270141537. 1
878270141538. 2
878270141539. 3

878270141540. 4

Question Number : 75 Question Id : 87827035998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¥ vy foue O v 2§ S fare @ ue foan # A 7

(1) s e

(2) A

(3) HEHTT

(4) oA (SHENE) T

Options :

878270141537. 1
878270141538. 2
878270141539. 3

878270141540. 4

Question Number : 76 Question Id : 87827035999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



__Isaclient server application that identifies each host on the internet with a unique user
friendly name.

(1) Telnet

(2) DNS

(3) TCP

(4) 1P
Options:
878270141541. 1
878270141542. 2
878270141543. 3

878270141544. 4

Question Number : 76 Question Id : 87827035999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T o] e R S R e R fafe e e 9§ @ A e
1) @
Q) AT
(3) A4d
(@) o

Options :

878270141541. 1
878270141542. 2
878270141543. 3

878270141544. 4

Question Number : 77 Question Id : 87827036000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



—_ _translates a low level language program into Machine code.
(I) Compiler
(2) Interpreters
(3) Assembler
(4) Virus
Options:
878270141545. 1
878270141546. 2
878270141547. 3

878270141548. 4

Question Number : 77 Question Id : 87827036000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR T 9T A Fe (I ) W aiEfid e g 2

(1) HIER
(2) 3FTUH
(3) TR
(4) @RH
Options :

878270141545. 1
878270141546. 2
878270141547. 3

878270141548. 4

Question Number : 78 Question Id : 87827036001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is not a part of a data packet ?
(1) Sender’s IP address

(2) Time and date of data packets

(3) Identity number of the data packet

(4) Header to identify the data packet

Options:

878270141549. 1

878270141550. 2

878270141551. 3

878270141552. 4

Question Number : 78 Question Id : 87827036001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feferfiaa =M e U2 &1 & 9 79 ¢ ?
(1) W9 1 TR TH

(2) 2RI Ueke ok 91 S 1 gAY 1S fafy
(3) =M Uk il yEAH HE&Al

(4) T Yohe H TEH Bq BT
Options :

878270141549. 1

878270141550. 2

878270141551. 3

878270141552. 4

Question Number : 79 Question Id : 87827036002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In India computers were used in Library work for the first time by
(1) Indian Statistical Institute, Calcutta

(2) INSDOC, New Delhi

(3) Indian Institute of Science, Banglore

(4) DRDO, New Delhi

Options:

878270141553. 1

878270141554. 2

878270141555. 3

878270141556. 4

Question Number : 79 Question Id : 87827036002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A H s I g ke % B Fe99 e grI fhe e o
(1) YR Hieasd S9H, Heehd

() e, T oo

() YR faam-geem, SR
@) e el % fooeh
Options :

878270141553. 1
878270141554. 2
878270141555. 3
878270141556. 4

Question Number : 80 Question Id : 87827036003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The reading range of UHF tags is
(1) Ocmto 10 cm

(2) 1 feetto 1 Meter

(3) 3-5 Meter

(4) 7-10 Meter

Options:

878270141557. 1

878270141558. 2

878270141559. 3

878270141560. 4

Question Number : 80 Question Id : 87827036003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g TF UH 1 i GSA-HH1 eIl
(1) 0 FH | 10 ¥+

(2) 17 91 HX

(3) 3-5HX

(4) 7-10 HreX

Options :

878270141557. 1
878270141558. 2
878270141559. 3

878270141560. 4

Question Number : 81 Question Id : 87827036004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



_is an initiative to preserve the long tail of open access Journals.

(1) JASPER
(2) CASPER
(3) DIAPER
(4) MASPER

Options:

878270141561. 1
878270141562. 2
878270141563. 3

878270141564. 4

Question Number : 81 Question Id : 87827036004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@Aed AT S T SHE T R o9 UF TR ¢

(1) SEETEAR
(2) HiTTEEAR
(3) R
(4) THUTEIEHR
Options :

878270141561. 1
878270141562. 2
878270141563. 3

878270141564. 4

Question Number : 82 Question Id : 87827036005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Econstar is a non-profit digital archiving service provided by :

(1) Library of Congress

(2) Australian National Library of Economics
(3) German National Library of Economics

(4) National Library of Economics, Netherland
Options:

878270141565. 1
878270141566. 2
878270141567. 3
878270141568. 4

Question Number : 82 Question Id : 87827036005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
RN (Bconstar) @ et fefodia afireraq 4 & ford frefefaa foreer g svems w5 e
87
(1) e i
D) SRR T A i S
3) S I TR A S
4) T A S SR, e

Options :

(
(
(

878270141565. 1
878270141566. 2
878270141567. 3
878270141568. 4

Question Number : 83 Question Id : 87827036006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is also called “Cardinal Scale” ?
(1) Nominal Scale

(2) Ordinal Scale

(3) Interval Scale

(4) Ratio Scale

Options:

878270141569. 1

878270141570. 2

878270141571. 3

878270141572. 4

Question Number : 83 Question Id : 87827036006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfefaa o | fFg * rorrar "o (FfeTe Ther) ' oft e S ® 2
(1)  =ifird ot (e k)

(2) shia AT (TSI wha)

(3) AU WA (T=IEA Bhal)

(4) I WA (A )
Options :

8782701415609. 1
878270141570. 2
878270141571. 3

878270141572. 4

Question Number : 84 Question Id : 87827036007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



is mainly concerned with generalisations and with the formulation of a theory.
(1
(2
(3
(4

) Quantitative Research
) Fundamental Research
) Applied Research

) Qualitative Research
Options:
878270141573. 1
878270141574. 2
878270141575. 3

878270141576. 4

Question Number : 84 Question Id : 87827036007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

_ T&Fa: gmErEeRn SR fagia et 9 Hetid g

(1) WWW
() A SIHR
(3) SEITIR SIEH
(4) TOTcHh IR
Options :

878270141573. 1
878270141574. 2
878270141575. 3

878270141576. 4

Question Number : 85 Question Id : 87827036008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is not a non probability sampling method ?
(1) Stratitied Sampling

(2) Convenience Sampling
(3) Judgement Sampling
(4) Quota Sampling
Options:

878270141577. 1
878270141578. 2
878270141579. 3

878270141580. 4

Question Number : 85 Question Id : 87827036008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefofea § 9 %9 9 wiawea fafy s T-yEfaee) gt fafa 5= 82

(1) T gie=gd
(2) GfaHHER gfa=aH
(3) S io=EA
(4) I Yfd=ae
Options :

878270141577. 1
878270141578. 2
878270141579. 3
878270141580. 4

Question Number : 86 Question Id : 87827036009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



When the dependent variable is not free from the influence of extraneous variable (s), the relationship
between the dependent and independent variables is said to be confounded by

(1) Extraneous variable

(2) Discrete variable

(3) Continuous variable
(4) Non-continuous variable
Options:
878270141581. 1
878270141582. 2
878270141583. 3

878270141584. 4

Question Number : 86 Question Id : 87827036009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

4 98 T A () F 9909 § T T o € 6 A S T W o o W e € 9
__Wwfaﬁﬁﬂm

(1) o
W faha:l f@aﬂz) gl
(3)

(4) ofFdd =X
Options :
878270141581. 1
878270141582. 2
878270141583. 3

878270141584. 4

Question Number : 87 Question Id : 87827036010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following is not a function of AGRIS ?

(I) AGRIS is a co-operative system

(2) Participating countries input the bibliographical references to literature
(3) AGRIS processing Unit at Vienna processes the collected information
(4) AGRIS follows decentralised processing of information for their purpose
Options :

878270141585. 1

878270141586. 2

878270141587. 3

878270141588. 4

Question Number : 87 Question Id : 87827036010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

(
(
(

878270141585. 1
878270141586. 2
878270141587. 3

878270141588. 4

Question Number : 88 Question Id : 87827036011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following does take the pride of the becoming the first medical periodical in India not
sponsored by any society or association ?

() Indian Journal of Medical Science

(2) Indian Medical Record

(3)  Medical Record

(4)  The Indian Medical Gazette

Options:

878270141589. 1

878270141590. 2

878270141591. 3

878270141592. 4

Question Number : 88 Question Id : 87827036011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

forf1 forelh Wl aqe 9 o g0 WA o ST aelt fevaferfian o 9 fo fafeen & 31 gom
Tl TR 21 1 HP T & 7

(1) gfem et i Hfesrer wfem

D) 3fer wiewa e

3) Weda fame

4) 7 fem e T

Options :

(
(
(

878270141589. 1
878270141590. 2
878270141591. 3
878270141592. 4

Question Number : 89 Question Id : 87827036012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following was not included in the Terms of Reference in the Project Agreement
(between UNESCO and India) for the development of public library services in India in May 1951 7

(I) It shall provide public library services for the people of the city Delhi

(2)  Thelibrary shall keep itself abstained from carrying out the policy of UNESCO's public library
Manifesto

(3) It shall be in all countries where similar development of public libraries can be undertaken

(4) It shall be a model for all public libraries developed in India

Options :

878270141593. 1

878270141594. 2

878270141595. 3

878270141596. 4

Question Number : 89 Question Id : 87827036012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

¢ 1951 % Freferfa & ford e o el eaemrera Senatl & fohm &g vl Wl () T
) o formre - fowa & &9 4 wfis 1 b e en?
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(2) % I R o HSh TEehier SOt 1 A o Seaier § W oo |

() AT T A G T T e 1 3 e § fo e 9w

() 7 e foefn 9ot e e & fo Aea (ared) 2

Options :

878270141593. 1
878270141594. 2
878270141595. 3

878270141596. 4

Question Number : 90 Question Id : 87827036013 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

While Medical Library Association (MLA) has fostered excellence in the professional practice to
enhance health care education and research, which of the following is not correct ?

(1) This association educates health information professional about how to handle health
information

(2)  This association supports its professionals in promoting health information research
()  This association trains physicians

(4)  This association promotes access the worlds health science information

Options :

878270141597. 1

878270141598. 2

878270141599. 3

878270141600. 4

Question Number : 90 Question Id : 87827036013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el TR THIAUTF (T U 1) 3 @ S e o g o 9f % o 9 o o
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Options :

(
(
(

878270141597. 1
878270141598. 2
878270141599. 3

878270141600. 4

Question Number : 91 Question Id : 87827036014 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are true of professional ethics in librarianship ?
(A) ALA adopted a professional ethical code in 1938

(B) ILA has adopted a professional ethical code in 197

(C) UK Professional ethical code was adopted in 1983
(

D) ASIS - American Association for Information Science has published a draft ethical code in

1990
Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(2) (A), (B), (D) Only
() (A), ©), (D) Only
(4) (B), (C), (D) Only
Options :

878270141601. 1
878270141602. 2
878270141603. 3

878270141604. 4

Question Number : 91 Question Id : 87827036014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141601. 1
878270141602. 2
878270141603. 3

878270141604. 4

Question Number : 92 Question Id : 87827036015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following factors emphasize the need for public relations and publicity ?
(A) Obligation of first law

(B) Obligation of second law

(C) Obligation of third law

(D) Obligation of fourth law

Choose the correct answer from the options given below :

(1) (&), (B) (C) Only

2 (A) (C), (D) Only
() (A), (B), (D) Only
() (8 (C) (D) Only



Options :

878270141605. 1
878270141606. 2
878270141607. 3
878270141608. 4

Question Number : 92 Question Id : 87827036015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfea o & i | FRF 51 T 9 T9R &I AGTH T 97 34 € ;
(A) wuw fafy =i s

(B) fadta faf =1 sreaan

(C) qdra fafy =i arsgar

(D) =Y fafy =t s

=1 fau o foeredi o @ WE S H T FTAC

)

Options:

878270141605. 1
878270141606. 2
878270141607. 3
878270141608. 4

Question Number : 93 Question Id : 87827036016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are true of categorization of users ?
(A) Potential user is the one who needs information which cannot be provided by specific services

(B) Expected user is the one who is known to have intention of using certain information services
(C) Actual user is the one who has actually used an information service
(D) Beneficiaty user is the one who derives measurable advantage from information services

Choose the correct answer from the optiuns given below :
(1) (A), (B), (C) Only

(@ () (C) (D) Only
(3) (&) ©) D) Only
() (A). (B), (D) Only
Options:
8782701416009. 1
878270141610. 2
878270141611. 3

878270141612. 4

Question Number : 93 Question Id : 87827036016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



8782701416009. 1
878270141610. 2
878270141611. 3

878270141612. 4

Question Number : 94 Question Id : 87827036017 Question Type : MCQ Option Shuffling :
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following holds good with geographical sources ?

(A) Meriam Webster's Geographical dictionary was first published in 1949
(B) Volume I of Gazetteer of India is titled as ‘Country and People’.

(C) Rand McNally has published “The New International Atlas’

(D) Fodors Essential India is an atlas

Choose the correct answer from the options given below :

(1) (A), (B), (C) Only
(2 (A) (©), (D) Only
(3)  (B), (O), (D) Only
(4)  (A), (B), (D) Only
Options :
878270141613. 1
878270141614. 2
878270141615. 3

878270141616. 4

No

Question Number : 94 Question Id : 87827036017 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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= feu v fasredi § 9 9 39T & =9IH HifeU

(1) = (A), (B), (O

(2) FFd (A), (©), (D)
(3) e (B), (), (D)
(4) e (A), (B), (D)

Options:

878270141613. 1
878270141614. 2
878270141615. 3

878270141616. 4

Question Number : 95 Question Id : 87827036018 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are true of Encyclopedia Americana ?
(A) First edition was published in 1903-04

(B) Edition published in 2005 contains 34 volumes

(C) Contains short articles on specific subjects

(D) Most of the articles are signed by contributors
Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

2 (), (C), (D) Only

(3) (A, (©), (D) Only

(4) (A), (B), (D) Only

Options :

No



878270141617. 1
878270141618. 2
878270141619. 3

878270141620. 4

Question Number : 95 Question Id : 87827036018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
STAEFATITea st % Hey 8 Frefafan § 4 -5 ¥ e 18 €7
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(C) 3 fafere fawdi W o oa few T &
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D) AferRiyT o ATl gr ewmeifid fow o €
e feu o fasredi § 9 W@ SO F1 99 FifC
(1) % (A), (B), (O)

() 9 (B), (C), (D)

(3) =@ (A), (©), (D)

(4) ¥ (A), (B), (D)
Options :

878270141617. 1
878270141618. 2
878270141619. 3

878270141620. 4

Question Number : 96 Question Id : 87827036019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the characteristics of primary sources ?
(A) Represent a researcher’s perspective

(B) Document events, people and viewpoint of particular time
(C) Widely scattered

(D) Reproduction of primary sources remain least important
Choose the correct answer from the options given below :

(1) (B), (C) (D) Only

(2)  (A), (B), (C) Only

() (A) (©, (D) Only

(4)  (A) (B), (D) Only

Options:

878270141621. 1

878270141622. 2

878270141623. 3

878270141624. 4

Question Number : 96 Question Id : 87827036019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frefafea § 9 $H-3H O a1d W Sl & T 82
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Options :



878270141621. 1
878270141622. 2
878270141623. 3

878270141624. 4

Question Number : 97 Question Id : 87827036020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Direct methods for user education are :
A) Orientation courses and lectures

B) Conducting Library tours

(
(
(C) Reader-Librarian dialogue while rendering the reference service
(D)  Audio-visual modules kept online

(

) Informal meetings at educational or cultural functions
Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only
) (A), (B) (C) and (E) Only
) (), (C), (D) and (E) Only
)

(
(3
4) (A), (C), (D) and (E) Only

4
Options :

878270141625. 1
878270141626. 2
878270141627.3

878270141628. 4

Question Number : 97 Question Id : 87827036020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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() %ad (A), (B), (O), (D)
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(3) Fad (B), (O), (D), (B)

(4) &= (A), (©), (D), (B)

Options :

878270141625. 1
878270141626. 2
878270141627.3

878270141628. 4

Question Number : 98 Question Id : 87827036021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S R Ranganathan’s Long Range Reference Service can be inferred through .
(A) Preparation
(B)  Service

(C) Assimilation
(D) Automation

(E) Classification

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (A), (D) and (E) Only
(4) (A), (B) and (E) Only

Options:

878270141629. 1
878270141630. 2
878270141631. 3

878270141632. 4

Question Number : 98 Question Id : 87827036021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141629. 1
878270141630. 2
878270141631. 3

878270141632. 4

Question Number : 99 Question Id : 87827036022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Objectives of resource sharing are :
Reduction in all round cost

B)  Avoidance of duplication of resources, processing and maintenance costs

(C) Satisfying a large group of users irrespective of their academic streams
(D) Provision of greater access to information resources to a wide category of users

E) Development of specialised areas of collection building
Choose the correct answer from the options given below :
(1) () (B) (O D) Only

2) (B), (C), (D) Only

) (A), (B), (D), (E) Only

)

(
(3
(4) (), () D) (E) Only

1
Options:

878270141633. 1
878270141634. 2
878270141635. 3

878270141636. 4

Question Number : 99 Question Id : 87827036022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) s (A), (B), (C), (D)
(2) = (B), (O), (D)
(3) e (A), (B), (D), (E)
(4) e (B), (C), (D), (E)
Options :

878270141633. 1
878270141634. 2
878270141635. 3
878270141636. 4

Question Number : 100 Question Id : 87827036023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following systems are developed based on the basic principles of the post coordinate
indexing system ?

(A) Chain Indexing

(B) Peek-a-boo

(C) Edge-notched card

(D) Duel Directories

Choose the correct answer from the options given below :
(1) (4), (), (D) Only

(@ (A), (B), (C) Only

() (), () (D) Only

(4) (C) and (D) Only



Options :

878270141637. 1
878270141638. 2
878270141639. 3

878270141640. 4

Question Number : 100 Question Id : 87827036023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

et & & @M T vaft e W SRR vgfa ¥ g & o ol 9 €7
(A) el S

B g

C) TT=HE

(VIEEREEHEE
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Options:

878270141637. 1
878270141638. 2
878270141639. 3

878270141640. 4

Question Number : 101 Question Id : 87827036024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The collation area of ISBD (M) includes :
(A) Pagination area

(B) Illustration statement

(C) Size

(D) Price

Choose the correct answer from the options given below :
(1) (A), (B), (D) Only

(2) (A), (B), (C) Only

(3) (B), (C), (D) Only

4) (&) (©) (D) Only

Options :

878270141641. 1

878270141642. 2

878270141643. 3

878270141644. 4

Question Number : 101 Question Id : 87827036024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3T T ot < (Tw) F P & e ¥
(A) iR &

(B) TwId He

(C) TFR

(D) TA

= feu v fasredi § 9 | 3O & =94 iU -
(1) a9 (A), (B), (D)

(2) %ad (A), (B), (O)

(3) %94 (B), (C), (D)

(4) FaE (A), (©), (D)

Options :



878270141641. 1
878270141642. 2
878270141643. 3

878270141644. 4

Question Number : 102 Question Id : 87827036025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The principles of proper abstracting include :
(A) Purpose

(B) Scope

(C) Coverage

(D) Conclusions

Choose the correct answer from the Dptiﬂns given below :

(1) (A), and (D) Only

(2) (A), (B), (D) Only
(3) (B), (©), (D) Only
4) (A), (B), (C) Only

Options :

878270141645. 1
878270141646. 2
878270141647.3

878270141648. 4

Question Number : 102 Question Id : 87827036025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



3faa AR & fagia § wina €

(A) =¥

(B) Torem

(C) =i

(D) fresel

= feu v fasredi § 9 9 39T & =9IH R
(1) 9 (A), 3R (D)

(2) %9 (A), (B) IR (D)
(3) %94 (B), (C) ¥R (D)
(4) FFA (A), (B) R (C)
Options:

878270141645. 1
878270141646. 2
878270141647. 3
878270141648. 4

Question Number : 103 Question Id : 87827036026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are advantages of stock taking ?
(A) Helps librarian to replace the essential lost books

(B) Reveals the lost books

(C) Helps the library authorities to ascertain as to whether the library staff is dishonest, negligent
and careless

(D) Cost of stock verification is not commensurate with the cost of books misplaced and is an
added expenditure

Choose the correct answer from the options given below :
(1) (A), (©), D) Only
(2) (A), (B), (C) Only
() () (0 () Only
() (A) (B)

)
4) (A), (), (D) Only



Options :

878270141649. 1
878270141650. 2
878270141651. 3
878270141652. 4

Question Number : 103 Question Id : 87827036026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
feeferfi o 4 i i o F=-21 TG €
(A) TREREEE F G T AT T @ age W e e ¢ |
(B) T8I g TH B0 A T ¢ |

(C)  eeerer TR o1 7 Qe e weg ferdl € fo o e oeeerd ST oo, el
1 ST £ |

(D) i T A I §U Y] ) I 6 R Tl 2, 7 U SHfofter o ¢
1% fou o ferredt & @ W@ T A T F0

) A), (©), (D)

) ) (B), (©)

3) B), (C), (D
4) A), (B), (D)

D::-

- EERE

( (
( (
[ (
( (
Options:

878270141649. 1
878270141650. 2

878270141651. 3

878270141652. 4

Question Number : 104 Question Id : 87827036027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Job description implies the recording of the following data concerning each job analysed.
(A) Fixing the money value of job and comparing one job with another

(B)  Principal duties to be performed and responsibilities involved are outlined
(C) Requisite materials, equipments, machinery and tools etc are listed
(D) Conditions of work i.e surroundings the time of work etc. are stated

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

) (), (C), (D) Only

() (A) (©), (D) Only

4 (A), (B), (D) Only

Options :

878270141653. 1

878270141654. 2

878270141655. 3

878270141656. 4

Question Number : 104 Question Id : 87827036027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 % v | T & fover foRu T v 9 & g W frefafen aiRg w e F
(A) T I EI W T4 F T 7 F e THH FA
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(1) % (4), (B) W (C)

@ B), (C) &R (D)

() @ (A), (O) (D)
(

e (
o (
% (A)

4) T (A), (B) ¥ (D)



Options :

878270141653. 1
878270141654. 2
878270141655. 3
878270141656. 4

Question Number : 105 Question Id : 87827036028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the requisite materials for Newark charging system for the book ?
(A) Date slip

(B) Date label

(C) Book pocket

(D) Book card

Choose the correct answer from the options given below :

1) (A) ©Q), (D) Only

(2)  (A), (B), (C) Only
(3 () (C), (D) Only
(@ (A), (B) (D) Only
Options :

878270141657. 1
878270141658. 2
878270141659. 3

878270141660. 4

Question Number : 105 Question Id : 87827036028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e % foru Fareh -t yonelt €9 Sravas armi FH-wE &2
(A) feies w=ii

(B) fadisk eored

(C) T The

(D) IF HIS

9= feu v fasedi § 9 Qe SO Il TG99 FIfU

(1) 9 (A), (©), (D)
(2) 94 (A), (B), (O)
(3) %9 (B), (C), (D)
(4) %a (A), (B), (D)

Options:

878270141657. 1
878270141658. 2
878270141659. 3
878270141660. 4

Question Number : 106 Question Id : 87827036029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Every OS has which permanently resides in the main memory of the computer to perform
some of its basic functions.

A) Interface
B) Kernel

) Nucleus
) Compiler

E) Shell

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (B) and (C) Only

(3) (C) and (D) Only

(4) (D) and (E) Only



Options :

878270141661. 1
878270141662. 2
878270141663. 3

878270141664. 4

Question Number : 106 Question Id : 87827036029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
T Sy A A1 & N A F FT MR A & A & o #) e i o
T el €|

Y

(A) T

(B) FTH

) e

(D) HEeR

E) ¥

A4 fou o fomredi 0 W@ SR T FifC
(1) o (A) R (B)
@ %@ (B3RO
() @ (C) 3 (D)
() (D)3 (E)
Options:

878270141661. 1
878270141662. 2
878270141663. 3

878270141664. 4

Question Number : 107 Question Id : 87827036030 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When the sender and the receiver of an e-mail are on different systems, in order to send message
over internet we need

(A) Two UAs

(B) Pair of MTAs

(€) MAA

(D) NIME

Choose the correct answer from the options given below :

() (A)and (C) Only

(2 (A) and (B) Only
(3) (B) and (D) Only
(4) (C) and (D) Only

Options :

878270141665. 1
878270141666. 2
878270141667. 3

878270141668. 4

Question Number : 107 Question Id : 87827036030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 2O ey Ui 0 & 9 6, 5 ferlt -t 3 e e oo e wag an d
28 ST A € -

(A) 99T

(B) wWHTIm

(€) Wuy

(D) T & W3

Options :

878270141665. 1
878270141666. 2
878270141667. 3
878270141668. 4

Question Number : 108 Question Id : 87827036031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The AR App “Timescape : Kolkata” is developed by
(A) University of Liverpool

(B) Jadavpur University

(C) British Library

(D) Calcutta University

(E) Mellon foundation

Choose the correct answer from the options given below :
(1) (A), (B), (O) Only

(2 (B, (O (D) Only

(3) (C), (D), (E) Only

(4) (B), (D), (B) Only

Options:
878270141669. 1
878270141670. 2

878270141671. 3

878270141672. 4

Question Number : 108 Question Id : 87827036031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 3R U9 ' eETERy : e’ feass g fassfaa fee man ?
(A) FFEfEd S ey

(B) e farvefcmmery

() fafew argsrdi

(D) Ferh Tagafaamed

(E) T WREUSIH

4 few U foeredi © | TE IR F =977 FC
(1) e (A), (B), (O)

() %94 (B), (O), (D)

(3) %ad (O), (D), (E)

(4) %9 (B), (D), (E)

Options :

878270141669. 1

878270141670. 2

878270141671. 3

878270141672. 4

Question Number : 109 Question Id : 87827036032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the types of content management system ?
Web content management system

(
(B) MIS

(C) Collaborative content management system
(D) Digital Research Repository system

(E)  Unicode content management system

Choose the correct answer from the options given below :
(1) (A), (C), (E) Only

(2)  (A), (B), (D) Only
3)  (A) (©), (D) Only
4)  (B), (©), (E) Only
Options:

878270141673. 1
878270141674. 2
878270141675. 3

878270141676. 4

Question Number : 109 Question Id : 87827036032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafea & 4 # fava-awg geve Tafa & TR § 2
(A) o9 faug-o%g y&9= 9

(B) TUH IS UH

(C) Heare fomg-a% gsivd gaid

(D) fefoea iy fam (9er) Tsfa

(E) dfepre foug-a%g wesH Tafd

3 few U foeredl © § WE SR H =TT FC -
(1) e (A), (C), (B)

(2) %99 (A), (B), (D)

(3) FaA (A), (O), (D)

(4) %99 (B), (), (E)

Options :

878270141673. 1

878270141674. 2

878270141675. 3

878270141676. 4

Question Number : 110 Question Id : 87827036033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



National Digital Heritage Archive is a program that is a partnership between
(A) National Library of Newzealand

(B) Library of Congress

(C) Ex Libris group

(D) Mellon Foundation

(E)  Sun microsystems

Choose the correct answer from the options given below :
(1) (A) B),(C) Only

(2)  (B), (D), (E) Only
(3 (A) (©) (E) Only
() (©) (D), (E) Only
Options:

878270141677. 1
878270141678. 2
878270141679. 3
878270141680. 4

Question Number : 110 Question Id : 87827036033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tt fefdea foma sfveanrm wds | ffafad feTe 9o #t 9eerd €72
I AR S FSeIve

(B) TSIl T UG

(C) T feraift o

(D) He HEUYH

(E) T HIZhIEEH

A fou o fosredi 9 W@ SO 1 999 i

Options :

878270141677. 1
878270141678. 2
878270141679. 3
878270141680. 4

Question Number : 111 Question Id : 87827036034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the Following are the challenges in adopting linked data in libraries ?

(A) Terminology disparity that exists between the library and web based standards
(B) Complexity of linked data technologies such as RDF/XML

(C) Metadata openness and sharing

(D) Facet based navigation

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) () and (C) Only
(3) (C) and (D) Only
4) (A)and (C) Only



Options :

878270141681. 1
878270141682. 2
878270141683. 3

878270141684. 4

Question Number : 111 Question Id : 87827036034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

R el €1 1 WA e Frefafs § @ S e §

(A)  wRRfirh zraret foraee <0 e U6 o9 afia W o R v (foemm) S €
B) o €I /T TH U & W fofae <11 ol (Treifimiedl) il weeian

D) ] SMHIRA ARG
fen U fomredl 9 W@ S F1 79 Hifau
(1) % (A) R (B
() @ (B) &R (C)
¢) @@ () 9 (D)
(4) I (C) R (A)
Options:

878270141681. 1
878270141682. 2
878270141683. 3

878270141684. 4

Question Number : 112 Question Id : 87827036035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are true about the “R” Software ?

(A) R is an interpreted language

(B) Users can access through a command line interpreter

(C) R’s capabilities are extended through user created package
(D) R is a commercial software

Choose the correct answer from the options given below :
(1) (B), (), (D) Only

(2)  (A), (©), (D) Only

(3) (A). (B), (D) Only

(4) (&) (B), (C) Only

Options:

878270141685. 1

878270141686. 2

878270141687. 3

878270141688. 4

Question Number : 112 Question Id : 87827036035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

“R” TR & R # fAefafed § ¥ @ § woF w8 €7
A) R T& 3e0IeE oA 2

(

(B) T WATHN FHIS AR 32T & WIHAH ¥ TFH HT T ¢ |

(C) R gwarsl i yaea g fAfifa Yo & meam § s 5 g €
(D) R & Sf0Tfsaeh Wi & |

9 fou v fasmedi § © W@ SO F =TI HifOC

(1) a4 (B), (C), (D)

(2) =94 (A), (©), (D)

(3) 94 (A), (B), (D)

(4) FF (A), (B), (O)

Options :



878270141685. 1
878270141686. 2
878270141687. 3

878270141688. 4

Question Number : 113 Question Id : 87827036036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A large number of manuscripts of different languages are found in Rampur Raza Library. Which
are those languages ?

(A) Arabic

(B) Pali

(C) Bengali
(D) Sanskrit
(E) Urdu
Choose the correct answer from the options given below :
() (4) (D), [ Only

@) () [0)Ony

() (0, (). (E)Only

® (B) ) () Only

Options :
878270141689. 1
878270141690. 2

878270141691. 3

878270141692. 4

Question Number : 113 Question Id : 87827036036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



fafir= sl ot qrogfeafiat ot gen Ty T e ¥ T T ) A o

(B) e

(C) @

(D) HEFd

(E) 3%

3 e o foreti § B W SR T FC
(1) % (A), (D), (E)

(2) & (B), (), (D)

() % (C), (D), (E)

(4) e (B), (D), (E)

Options :

878270141689. 1
878270141690. 2
878270141691. 3

878270141692. 4

Question Number : 114 Question Id : 87827036037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are true for Chicago Style manual of style ?
(A) Chicago style manual was published first in the year 1896

(B) It is published by university of Chicago press
(C) It uses notes and bibliography style
(D) Title of the first edition was, “Manual of Style”
Choose the correct answer from the options given below :
() (A), (B), (O Only

) (B), (C), (D) Only
(3) (A), (B), (D) Only

) (A), (©), (D) Only



Options :

878270141693. 1
878270141694. 2
878270141695. 3
878270141696. 4

Question Number : 114 Question Id : 87827036037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘R wrge e’ o 9 H fEfaiEd § 9 %hiH 9 hYH 9E § 7
(A) TIRTT BTl HATF LIeel 1 Tacll Yho 1896 H T311 o |
(B) o€ Ifafd2t siiw foreprn O g1 Yehifora feran sian 2|
(C) =¥ fooqur ofR Frerg=h Frefl =1 wamT foan S €

(D) 9| Y19 k1 Yt HASTe B =Ea’’ 91

= fou 7o fawedi § 9 Qe 39 1 999 FIf

(1) =9 (A), (B), (O

(2) = (B), (O), (D)

(3) S (A), (B), (D)

(4) F=E (A), (), (D)

Options:

878270141693. 1
878270141694. 2
878270141695. 3
878270141696. 4

Question Number : 115 Question Id : 87827036038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the fﬂllnwing are true of telephmﬂc interview ?
(A) Most suitable for intensive surveys

(B) Faster than other methods of interview

(C) Replies can be recorded

(D) Questions have to be short and simple

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(2)  (A), (©), (D) Only

(3) (A), (B), (D) Only
4) (B), (), (D) Only
Options:

878270141697. 1
878270141698. 2
878270141699. 3

878270141700. 4

Question Number : 115 Question Id : 87827036038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Y GRT W&k & oy H ffefas § § w9 9§ wue w@é €72
(A) e Fa&ml % fau waifas 3uge €|

(B) HI&TeRR o1 37 faferdi i qor | stferr o< €

(C) I = et foran = gahan 81

(D) 9o HiEw IR |l B =18y |

= feu o fawedi § 9 WE SO o 999 FHITAT

(1) e (A), (B), (O)

(2) =@ (4), ©), (D)

(3) FA (A), (B), (D)

(4) %= (B), (O), (D)

Options :



878270141697. 1
878270141698. 2
878270141699. 3

878270141700. 4

Question Number : 116 Question Id : 87827036039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - II
Concept Explanation
(A) Information society () Seeks to overcome the problem of digital divide
(B) Knowledge society (I) Investigates the properties and behavior of information
(€) Information studies (L) Information is seen as a commodity
(D) Information science (IV) Emerged from cross fertilization of ideas

Choose the correct answer from the options given below :
(1) (A}, BHI), (©-(IH), (D)-(IV)
2) (A0, (B)-(ID), (C)-V), D)0
3) (A, (B)-(I), (CHIV), (D)-(I)
4) (AHIV), (B)-(I) (C)-(I), (D))

(A (@
(3 A
@ |
Options :

878270141701. 1
878270141702. 2
878270141703. 3

878270141704. 4

Question Number : 116 Question Id : 87827036039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el § eIl 1 fier i
Tl el

yreffferat e
(A) T ST () fefoeneine (faurm) &1 A & Gaum 91
FE
(B) T MG Ho () A 3 TN T SRR S
(€) T - AP (I1l) o % % 9§ TEh 9l
(D) & - o (V) o & fe-3ofa & Sqfam
7 fou o fowred o @ W8 S # WA F0
(1) (A0, (B(L), (CHI), (D)-(IV)
(@ (AHI, B)-(), (C-(IV), (D)-()
(3) (A, (B)-1), (CHIV), D))
(4)  (AHIV), (BI{1), (CHI), (D))
Options:

878270141701. 1
878270141702. 2
878270141703. 3

878270141704. 4

Question Number : 117 Question Id : 87827036040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
Library Associations Year of establishment
(A) Madras Library Association (I) 1928
(B) Andhra Desa Library Association (I) 1939
(C) Bengal Library Association (I) 1914
(D) Delhi Library Association (IV) 1925

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(IIL), (C}-(IV), (D)-(II)
(2)  (A)-(IV), (BHILI), (C)H(I), (D)-(II)
(3)  (A)-IV), (B)-(ID), (C)-(1), (D)L
(4) (A1), B)-(D), (C)-(1V), (D)-0)
Options :

878270141705. 1
878270141706. 2
878270141707. 3

878270141708. 4

Question Number : 117 Question Id : 87827036040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .

-1 -1
qEAehTerd 6 TUMIAT Y
(A) WS TSR THITITTyH () 1928
(B) 3Ty ow wMH UHIRUIH (I) 1939
(C) =rel eEsi] TSy (1) 1914
(D) feeet emgsdt THITYH (IV) 1925

= feu 7o foredi § | W& I 1 = ST
() (A)D), (B)-(UI), (O)-(IV), (D)-(IT)

(2)  (A)-(IV), (B)-(IIT), (O)-(T), (D)-(ID)

() (A)-IV), (B)-(1D), (C)-(I), (D)-(IIL)

(4) (A1), (B)-(), (©)-(IV), (D)-(I)

Options :

878270141705. 1

878270141706. 2

878270141707. 3

878270141708. 4

Question Number : 118 Question Id : 87827036041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I

List - I List - II
Purpose Type of Portal

(A) Platform that focuses on the client () Information Portal
through personalised access point

(B) For use within the company or (II) E-Commerce Portal
organization

(C) Through which marketing can be (IIf) Customer Portal
promoted

(D) Provides type of specialized information (IV) Corporate Portal

Choose the correct answer from the options given below :

(D) (AHD, (BR(L), (OHIL), (D)-(IV)

(2 (AHD, (BHIV), (C)-(L), (D)-(I)
(3) (A, (B)(ID), (C)-(IV), (D)-(1)
(4) (A, BHIV), (OHID), (D)-(0)
Options:

878270141709. 1
878270141710. 2
878270141711.3

878270141712. 4

Question Number : 118 Question Id : 87827036041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .

TEl-1 -1
EChE| TS T WehTT

(A) Al yg= fog o wream | () =1 9réa
Uresh I &A1 T aTell WiewH

(B) AN el GSA & offeR (I)  3-=forsa 9rde
I o fequ

(C) Ty wream | faqu =1 agmEn (Il) T=F 9o
fean =1 a1 ©

(D) U YR i fafyre ga1 9eH (IV) sMRZ 9rEe
EaGils

= feu v fasredi § 9 W€ 39T & =9IH R
(1) (AL, (B)-(L), (O)-(I), (D)-(IV)

(2) (A0, (B}-(IV), (C)-(I), (D)-(IT)

(3)  (A)I), (B)-(1D), (©)-(IV), (D)-(I)

(4) (A)II), (B)-(IV), (O)-(1D), (D)-(I)
Options:

878270141709. 1

878270141710. 2

878270141711. 3

878270141712. 4

Question Number : 119 Question Id : 87827036042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Centres Parent body
(A) NISCAIR (I) ICSSR
(B) DESIDOC (I)  Ministry of Small Scale Industries
(C) NASSDOC (II) CSIR
(D) SENDOC (IV) DRDO

Choose the correct answer from the options given below :

(1) (A)(I), (B}-(L), (QO)-(II), (D)-(IV)
(2) (A, B)-(I), (C)-[V), (D)-(0)
(3) (A, (B)-IV), (C)-(T), (D)-(II)
4)  (AHIV), (B)-(I), (C)-(ID), (D)D)
Options :

878270141713. 1
878270141714. 2
878270141715. 3

878270141716. 4

Question Number : 119 Question Id : 87827036042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Geit-1 9 G-I = el sifsm

i1 -1

L2 Ui aret
(A) U e TE H U e o (Frasm) (I) 3T 9 79 9 &R
(B) <% UH E € I H (SHiEk) (I) o9 3 T
(C) T TH TH < o (THEF) (1) & g 3 R
(D) TH3ITE A H (FTEF) (IV) € aR <t e

A fau U foredl | | Wel T 1 94 FHifoT ;
(1) (A)-(0), (B}-(I), (C)-(ImI), (D)-(IV)

(2) (A, (B)-(IL), (O)-IV), (D)-(1)
3) (A, BHIV), (O-(I), (D)}-(1)
@) (A)-{V), (B)-(1), (C)-(1D), (D)-(I)

Options :

878270141713. 1
878270141714. 2
878270141715.3

878270141716. 4

Question Number : 120 Question Id : 87827036043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - 11
Types of Abstracts Explanation
(A) Descriptive abstract ()  Abstract of a paper which has not yet been written
(B) Listing abstract (I)  General statement of the nature and scope of the document
(C) Slanted abstract (III) List the content of the document
(D) Pseudo abstract (IV) Oriented to serve a special group of users

Choose the correct answer from the options given below :
(1) (A1), (B)-(IL), (CH(I), (D)-(IV)

(2) (A}, (B)-H), (©-(1v), (D)-(1)
() (AHIV), (B)-(I), (CH{H), (D)-(1)
(4)  (AH), B, ©-(), D)-(1V)
Options:

878270141717. 1
878270141718. 2
878270141719. 3

878270141720. 4

Question Number : 120 Question Id : 87827036043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tell-1 H -1 1 e #hife
-1 -1l

T & FehT e
(A) TR TR (I) 3% U o1 S el forn 7@
(B) TG TR (I) T 1 G e 0 e 1 forem
() g I () < o fawl 1 g
(D) W IR (IV) TRt SwamT shefiatl % W 1 Wl < ol
el feu T forredi # § e T T FIC
(1) (AHD, (B}, (C)-(I), (D)-IV)
(2) (A, B)-(I), (O)-(IV), (D))
(3) (AHLV), (BHII), (CHID, (D)-0)
(4) (A, (B)-(I), (©)-(1), (D)-IV)
Options :

878270141717. 1
878270141718. 2
878270141719. 3

878270141720. 4

Question Number : 121 Question Id : 87827036044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - I
System Usage
(A) PERT (I)  used for the physical and logical descriptions of system
() DFD (I)  generally two pairs of time/ cost estimates anormal cost/ time schedule
and a crash cost/time schedule
(€) CPM () Event, Activity, Dummy activity, Merge event
(D) Libual (IV) based on users evaluation

Choose the correct answer from the options given below :
(1) (AML), (BHLV), (C-1), DHI)

(2)  (AHI, (B)-(, ©-1v), [D)-0)
() (AHD), BM(I), (CHII), D)-(1V)
() (AHII), (B)-{1), (CHI), (D)IV)
Options :

878270141721. 1
878270141722. 2
878270141723. 3

878270141724. 4

Question Number : 121 Question Id : 87827036044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1§ el 1 fie i
Tl el

firen pe it
(A) W3 emA () et < “ifder & difeken a0 o ferd M 21 ¢
B) FwE (I) G <) 9 A/ Shers, S aiTe/ A S
C #whw (I1T) 52, ek, gt ffafy, foa s
(D) fagem (IV) Swaeral o Jedrad T A
4 feu U fomredl W § WE S A T FIC
(1) (AR, (BHIV), (O-1), (D}(T)
(2)  (AHH), B)-(I), (C)-IV), (D))
(3)  (AH), (BRI, (C)-(), (D)-IV)
(4) (A, B)-(0), (CH(T), (D}-V)

Options :

878270141721.1
878270141722. 2
878270141723.3
878270141724. 4

Question Number : 122 Question Id : 87827036045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - L.
List -1 List - 11
Types of firewall User
(A) Packet filtering firewall (I}  used inasituation in which the system administrators trust
internal user
(B) Stateful packet inspection (II) ~Applies a set of rules to each incoming and outgoing IP
firewall packet
(C) Application level Gateway (II) Also called application proxy tends to be more secure than
packet filters
(D) Circuit level Gateway (IV) Tighten up the rules for TCP traffic by creating a directory
of outbound TCP connections
Choose the correct answer from the options given below :
() (AMI, BHII), 1Y), O+
@) (AHD, (BHLY), -1, (O}
() (M), BHIV), (CHD) (DM
() (AXI, (BH1Y), (CH1, (D-)

(A
(A
(A
Options:

878270141725. 1
878270141726. 2
878270141727.3

878270141728. 4

Question Number : 122 Question Id : 87827036045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el ¥ Tl 1 e e
T Tl

TRIAATe & Yehm el

(A) o TRt wmE (1) st e e 2 & e feem et ()
30 T T e H

(B) T Tohe WA TG () TS oW W@ SR o o1 1 e g Frm-w @
T 2

(C) T e T () Trhe fireet it omen aifors qefe 2 o o g, o
TR Jioe ot e T ¢

(D) W o e (IV) ot 21 ¥ 0t e ol O e o & &1 i
i ofte 2 el & et e e €1

Al few T foeredl § ¥ e SR o 7 I

(1) (A, (B)-(), (©-(Iv), (D)

(@ (A, (B)-(IV), (C)-{im, (D)-()

() (A, (B)-{V), (CHI). DK

(4) (A, (B)-{V), (CHI, (D)-()

Options:

878270141725. 1
878270141726. 2
878270141727.3
878270141728. 4

Question Number : 123 Question Id : 87827036046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - I
Content Management System Platform
(A) TYPO3 (I) Ruby
(B) Magnolia (Iy PHP
(C) Umbraco (I C#
(D) Radiant (IV) Java

Choose the correct answer from the options giv en below :

(D) (A1), (B)-(1D), (O)-IV), (D)-(1)

(2) (A, (B)-(IV), (O)-(ILD), (D)-(D)
(3)  (A)-(I), (B)-(IV), (C)-(1), (D)-(IT)
(4) (A)-(), (B)-(I), (C(1V), (D)-(II)
Options :

878270141729. 1
878270141730. 2
878270141731. 3

878270141732. 4

Question Number : 123 Question Id : 87827036046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
-1 -1

whee Temie faen AT
(A) &’ a3 (I w&
(B) HTAIfera (I Wu=ad
(C) 3TaITR] (I) C#
(D) eu= (IV) ST

= Teu U fereredi § | W& IO 1 FIH HifAC
() (A1, (B)-(I1), (©)-(IV), (D)-(I)

(2)  (A)-(1D), (B)-(IV), (CO)-(I1D), (D)-(T)

(3) (A, (B)-(1V), (O(D), (D)-(IT)

(4) (A, (B)~(1), (O-(IV), (D)-(IT)

Options :

878270141729. 1

878270141730. 2

878270141731. 3

878270141732. 4

Question Number : 124 Question Id : 87827036047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - 1I
Metrix Characteristics
(A) Cite Score ()  Weight value based on subject-field quality and reputation
of Journal
(B) SR (I) Calculates number of times article has been cited over 5 years
(C) Eigen factor (If) Providesinsights into way people interact with individual pieces

of research output
(D) Plum X metric (IV) Number of citations that a manuscript received over 3 years
Choose the correct answer from the options given below :
(1) (AHIV), (B)-(D), (CH(IL), (D}(I)
(@) (AHIV), (BII), (CH(I), (D)-(I)
() (AL, (B)-{T), (CHIV), (DHII)
(4) (A}, (BHIV), (CHL), (D)-(1)

Options :

A
A

(A
(
(
878270141733. 1
878270141734, 2
878270141735, 3

878270141736. 4

Question Number : 124 Question Id : 87827036047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el ¥ Tl 1 e e
Tl LI

e faerTg

(A) HE EN () et o o &, T &R Sfaten o SR W S A

(B) TR (I) 7 o a7 ¢ o ferelt o 1 foret e o ol o
Edcz ke

Q) o T () 38 am § sfafdfie yem e ¢ f e Sem-orem SrHm
uftomy @ oG TR oS A £

(D) e T gk (IV) %% TORT 3 & o6 el oot o frgid ot ol of ek
R TG o TR

4 fou U foeredl # B WG T 9 H

() (AHIV), (BH), (CH(L), OK)

2 (AHIV), (B, C-(L), (D))

AR, B)-(), (CHIV), (D))
| I

@ |
G @) 1
(4) (AL, (B)-{V), (CHID, (D))

Options:

3
i

878270141733. 1
878270141734. 2
878270141735. 3
878270141736. 4

Question Number : 125 Question Id : 87827036048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - II

Centres/programs (Institute/campus where it was started initially)
(A) National Centre for Science ()  Gujarat University, Ahmedabad

Information
(B) National Social Sciences () SNDT Women's University, Bombay

Information Centre
(C) National Humanities (I) MS University, Baroda

Information Centre
(D) Information and Library (IV) Indian Institute of Science, Bangalore
Network Centre
Choose the correct answer from the options given below :
(1) (A}, BRI, (C)-(I), (D)-IV)
(2) (A}, B)-(), ©)-1V), (D)-(1)
(3)  (A)-I), (BILV), (CHI) (D)-(I)
(4)  (A}(IV), (B)-(IiD), (K, (D)-(1
Options:
878270141737. 1
878270141738. 2
878270141739. 3

878270141740. 4

Question Number : 125 Question Id : 87827036048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Ti-1 ¥ -1 1 el i
-1 T-II

ETCape o TR gl T e B o
yriw fean T o
(A) T o G o () TR forvafammem sRmeme
(B) UM HWIfse foA ol e (I) T§ T € 2 Afgen fovafaerey, awe
() T roA-for e % () T O foreforeers, g
(D) T & TRo e Het (IV) e foq Hedr e
A feu U ol @ 9 e I H 999 B
(1) (A1), BI), (O(Im), (D)-(IV)
() (A}, G-I, ©-IV), (DO
(8) (A, (B}-(IV), (C)-D), DK
(4)  (AHIV), (B)HII), (11D, (D)-(D)
Options:

878270141737. 1
878270141738. 2
878270141739. 3

878270141740. 4

Question Number : 126 Question Id : 87827036049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following concepts in the reverse order of their application :
(A) Wisdom

(B) Data

(€) Information

(D) Knowledge

Choose the correct answer from the options given below :

(1) (A) D) (©) (B)

@ (© () (4) D)
@) (A), (D) (B), (©)
@) (A), B) (©) (D)
Options:

878270141741. 1
878270141742. 2
878270141743. 3

878270141744. 4

Question Number : 126 Question Id : 87827036049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
feAferfiaa Hereast =1 37 9arT & fooda e ¥ sgafeea it |
(A) Ffgmr
(B) TS (BTeT)
(€) AT
(D) ¥
T fou U fasedi § 9 Q& SO &1 999 FIfAU

(1) (A), (D) (O), (B)
2 (© (B) (A) (D

) )
3) (A), D) (B) (O
4) (A) (B) (©) (D)

Options :
878270141741.1
878270141742. 2



878270141743. 3

878270141744. 4

Question Number : 127 Question Id : 87827036050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange in sequence the steps of Browne Charging System.

(A) due date is stamped on the due date slip

(B) the call no. and borrower number are recorded in the daily circulation work

(C) Book card coupled with the readers pocket is filled in the charging tray behind the respective
due date card by call number

(D) Counter assistant takes the book card out of the book pocket and slips it into the borrower’s
ticket

Choose the correct answer from the options given below :

(1) () () (4) ©)

@ 0)(4)(©) 6

() () ), 0)©

@ © (&), (D) B)

Options :

878270141745. 1

878270141746. 2

878270141747. 3

878270141748. 4

Question Number : 127 Question Id : 87827036050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



1A T ot & 1t el &1 STy STTAR At FIf ;

(A) <3 fafa =l W 7 fafer get o ot €

(B) &f fiemem @ o sy g i TRt i <o fRT W R

(C) < faf #7E % e friw ¢ § ay Few g0 Teer e o Teeh ek R St € |
(D) R TerE e Wehe § TEih 1S a1l F Tera foshe H S ¢ |

A feu o fosredi o @ WE AT F T I ;

(1) (@), (D), (A), )

Options :

878270141745. 1
878270141746. 2
878270141747. 3
878270141748. 4

Question Number : 128 Question Id : 87827036051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SE'L]UEI'ICE the fnllnwing in the order of their year of release :
(A) Intute

(B) PLOS

(C) Ji5c

(D) SciCentral

Choose the correct answer from the options given below :
(1) (©), (D), (B), (A)

2) (D) (O, (A) (B)

@) (©, (B), (A), (D)

(4) (B), (Q) (D), (A)

Options :
878270141749. 1
878270141750. 2



878270141751. 3

878270141752. 4

Question Number : 128 Question Id : 87827036051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frfafiaa o1 37eh1 359a a4 &% A H ST
(A) T=I

(B) wIg
(C) =it 3% wE Hl
(D) WEEZA

= feu v fosredi § 9 W SO 1 =94 FifeU
(1)  (©), (D), (B), (A)

2 (D) (©) (A) (B)

(3)  (©), (B), (A), (D)

4) (B), (©) (D), (A)
Options:

878270141749. 1
878270141750. 2
878270141751. 3

878270141752. 4

Question Number : 129 Question Id : 87827036052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following functional phases of SDI service in a logical sequence.
(A) Modification

(B) Notification

(C) Selection

(D) Feedback

Choose the correct answer from the Dptinns given below :

() © (B) D) (4)

(2 (©) (D) (A) (B)
@) (), Q) (D) (A)
4) (A) (B) Q) (D)
Options:

878270141753. 1
878270141754. 2
878270141755. 3

878270141756. 4

Question Number : 129 Question Id : 87827036052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

UH €1 3¢ Yl & fAferiaa yeratenes W i difcher 0 W T ¢
(A) STENEA

(B)  aaferg=m

(C) ==

(D) wiaqre

= feu v fasredi § 9 | 3O & =94 e -
(1) (C©), (B), (D), (A)

(2) (©), (D), (A) (B)

(3) (B), (O) (D), (A)

4) (A), (B), (), (D)

Options :

878270141753. 1

878270141754. 2



878270141755. 3
878270141756. 4

Question Number : 130 Question Id : 87827036053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the steps involved in POPSI to prepare the index entries in a logical sequence.
(A) Display of components

(B) Verbal representation

(C) Approach terms

(D) Alphabetical arrangement

(E) Cross reference

Choose the correct answer from the options given below :

() ®), @A) ©), E D)

) (A)(B), (D) ©) (E)
@) (©) (B) (4), (D) ()
@ () (B) D) (@A) ©
Options :

878270141757. 1
878270141758. 2
878270141759. 3

878270141760. 4

Question Number : 130 Question Id : 87827036053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



grea U2 & fmior # gfedt & wf=ifeq =won =t aifdhs &0 § Tom
(A) EZHi S HeH¥a HET

(B) HiIf@® FEgalehiul

(C) 3= =™

(D) SUIRA FSTee

(E) wfafeer (M T%i)

i< fou TTq foeredi § ¥ W& I 1 994 Hifeg;

(L) (B), (&), (O (E), (D)
(2) (A), (B), (D), (O, (E)
3) (Q), (B), (A), (D), (B)
@) (&), (B) (D), (A) (O

Options:

878270141757.1
878270141758. 2
878270141759. 3

878270141760. 4

Question Number : 131 Question Id : 87827036054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange in sequence the 5 stages of the Disaster Management cycle.
(A) Mitgation

(B) Recovery

(C) Response

(D) Preparedness

(E) Prevention

Choose the correct answer from the options given below :

(1) (D) (A ) ©, (B), (E)

(2)  (A) (©), (B), (D), (E)
(3)  (B), (E) (A), (©), (D)
4) (), (A), D), (©) (B)

Options :



878270141761. 1
878270141762. 2
878270141763. 3

878270141764. 4

Question Number : 131 Question Id : 87827036054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SITYET Ya=2H 95k & 5 =00 ol FHAN T
(A) TR (faferrs)

(B) =gl (feararl)

(C) aFfsran (Teare)

(D) Tt (fagEaw)

() ek (o)

= feu o fored § @ W SO @ =999 Fif9T
(1) (D), (A), (©). (B). (E)

(2 (A, (Q), (B), (D), (E)

(3) (B), (BE) (A), (©), (D)

4 (E). (A), (D), (C) (B)

Options :

878270141761. 1

878270141762. 2

878270141763. 3

878270141764. 4

Question Number : 132 Question Id : 87827036055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following Academic Social Networks according to their first release.
(A) Research Gate

() ORGD

(C) Publon

(D) Zotero

Choose the correct answer from the options given below :

1) (A) @) © O

2 @) () O) A

3) (O, (D) (A) (B)

4) (D) (A) (B), (O

Options:

{
(
{

878270141765. 1
878270141766. 2
878270141767. 3
878270141768. 4

Question Number : 132 Question Id : 87827036055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Freffetfiaa rerrefoer STwIfos Seaahl 1 7k Gagym Sl fof T I o SFaR SHafedd Fifsu |
(A) ez

(B) ifehe

(C) Yo

(D) Sfeq

= fou T fomredl @ € W S F T FGC

(L) (A ®),(C) D)
2)

Options :
878270141765. 1

878270141766. 2



878270141767. 3

878270141768. 4

Question Number : 133 Question Id : 87827036056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the steps of Data mining process in a proper logical sequence.
(A) Select suitable algorithm

(B) Prepare Data pattern

(C) Choose available analytical package

(D) Select of suitable databases from data warehouse

Choose the correct answer from the opt'mns given below :

1) ), (D), (A) ©

(2 (A) (B), (O, (D)
(B)  (A) D) (©) (B)
4)  (©), (A), (D), (B)

Options :

878270141769. 1
878270141770. 2
878270141771.3

878270141772. 4

Question Number : 133 Question Id : 87827036056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



RS G (START) Fhordl o =01 (HI9H) Hel Ak A ¥ sqafedd Hifau
A) 3UFH TSRS Hl 791

(B) T WOEY IR A

(C) 3yer favero T Tohst &

(D) SR 9IS 3T SR =5
=l feu mu foed] § @ WE SRR A T Hi
() (B). (D), (A) ©

2 (A), (B), (C), (D)

(3) (A) D) (©) (B)

4) (€ (4), (D) (B)

Options :

878270141769. 1
878270141770. 2
878270141771. 3

878270141772. 4

Question Number : 134 Question Id : 87827036057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the fﬂllnwmg steps in plarmjng an Experlmenlal Research in a ngicaJ order.
A) Pilot study

B) Conducting the experiment

D) Selecting the problem

E)  Selection of setting

Choose the correct answer from the options given below :

(0 (D) (E), (A), (B), (C)
) D), E) (©) (A) (B)

) (D), (E) (A), (C), (B)

) (E), (D), (B), (A), (O

(
(
(C) Research design
(
(

(2
(3
(4
Options :

878270141773. 1



878270141774. 2
878270141775. 3

878270141776. 4

Question Number : 134 Question Id : 87827036057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

WeTiereR ST ) A A 3 Freffaa o ) A e A
(A) JEIfTR Seqe (IR =E)

(B) WA LA

(C) SHYM Ahey T

(D) HHHEI &l 997 Al

() fo=ma = =&

< frm  ferredt B W SR A =T T
L) (D), (B), (A), (B), (C)

) (D), (B), (©), (A), (B)

(D), (E), (A), (C), (B

) (E), (D), (B), (A), (©)

Options :

.-"-‘..--"-1..--"-..-"-‘.

878270141773. 1
878270141774. 2
878270141775. 3

878270141776. 4

Question Number : 135 Question Id : 87827036058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following Commissions/ Committees that was setup for library developmentina logical
order.

(A) Mehrotra Committee

(B) Review Committee on Library Science

(C) Committee on National Network System for Universities/ Libraries
(D) Education Commitee

Choose the correct answer from the options given below :

) (@), 6)C) D)

2 (8) D) (A)©

3) (€, (D), (A) ()

1) (D) (4).8) C

Options:

(
(
{

878270141777. 1
878270141778. 2
878270141779. 3
878270141780. 4

Question Number : 135 Question Id : 87827036058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

JEIerd- T o Mfad Fafefed st /afHfadi @ afdhe ST | afed it |
(A) el i

(B) YR foRm HeiHt e Wit

(C) Tovaformrera/qeraier oq U2 Ao a9 Haell ifd

(D) foren wfufa

e fou o fagmedi 7 9@ WE ST T Hifo

(1) (A), (), (©), (D)
(2) (B). D) (A)©
) (€, (D) (A) (B)
(4) (D) (4) (B), ©
Options :

878270141777. 1



878270141778. 2
878270141779. 3

878270141780. 4

Question Number : 136 Question Id : 87827036059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Archiving and preserving digital information resources are complex resource-
intensive process

Reason (R):  This applies to both i.e born digital and digitized information

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270141781. 1

878270141782. 2

878270141783. 3

878270141784. 4

Question Number : 136 Question Id : 87827036059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A & e fen o € v afureme (A) 3 w9 9 foffi & o o0 S @R (R) F R A
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IR o % e H, A fen T foed o @ @ wwe TR St

(1) A (A) 3R (R) T & 811 (R), (A) T 08 I &

(2) S (A) 3R (R) T € O (R), (A) 3 TG TR T &

(3) (A)F R, Tl (R) 5

(4) (A) 375 € AR (R) T &

Options:

878270141781. 1

878270141782. 2

878270141783. 3

878270141784. 4

Question Number : 137 Question Id : 87827036060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : A website is a collection of webpages, images, videos and other digital assets and
hosted on a particular domain

Statement (II) : All publicly accessible websites collectively constitute the world wide web

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270141785. 1

878270141786. 2

878270141787.3



878270141788. 4

Question Number : 137 Question Id : 87827036060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

:ﬂ%a‘lwﬁw‘a‘:
T (1): 0% dorge qae, fosl, el v o fefoen wvoe o ok wve & & v fere fofome
o U B fo T B

T (L1) : 1 Selser 7 aereree Afeeh &9 4 e a5e o fiffa 7 €|
IR FoF & e W, e feu o fowest A 9 wh I T i

(1) BRIIRFR I T %

(2) YR 1 3R e 11 S e &

(

(

3) YR 1T ¢, T R 11 5 ©
4) TR S €, T KO I

Options :

878270141785. 1
878270141786. 2
878270141787.3

878270141788. 4

Question Number : 138 Question Id : 87827036061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Delegation of authority involves the establishment of authority relationship that
provide both horizontal and vertical coordination between working units in an
institution

Reason (R):  Mere delegation of authority does not absolve the delegation of responsibility for
the consequences of such delegatmn The risk involved in the decision should be
the major criterion for delegation

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R} are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options:

878270141789. 1

878270141790. 2

878270141791. 3

878270141792. 4

Question Number : 138 Question Id : 87827036061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1 & T fou € e oo (A) % w0 A feffg € 1 g S RO (R) § w9 A

AR (A) ;TR 3 e o TR et ) T I & 9 foredt wen o v A
T &ifos Ao e W T o ¢

TR (R): O % YR W Y T YREen & i % o g # e 8
frfers e fore | e 1 g amem o e fn 2 e

TG o o o, A fou T et # @ W W T #ic

(1) A (A) 97 (R) 57 & &R (R), (A) F 9 AA §

() @ (A) R (R) T & A (R), (A) 3 T8 N T §

() (A)TA ¢ ofF (R) 9 &

(4) (A) 5 & o (R) ¥4 &

Options:

878270141789. 1
878270141790. 2
878270141791.3
878270141792. 4

Question Number : 139 Question Id : 87827036062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) :  Electronic reference sources are most frequently updated than print sources
Statement (II) : Use of electronic reference sources requires expensive infrastructure

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

(
(
(
Options :

878270141793. 1



878270141794. 2
878270141795. 3

878270141796. 4

Question Number : 139 Question Id : 87827036062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

qﬁa‘iwﬁqw%‘

FUA () : T2 &l 1 qor | oo HeY Bl 1 S o ST fohd S @ |
A (I1) : eI He #il o T Geiic) STaTam i STevasd £ |

TR FYA F A ¥, A fou e o § ¥ Wi I 99 i

(1) IR 1R KO T ¢

() IR AR KU T A &

(3)

(4)

3) YA | T €, WA R 11 39 ©
4) HUT] A T, A KA TA €
Options :
878270141793. 1
878270141794. 2
878270141795. 3
878270141796. 4

Question Number : 140 Question Id : 87827036063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (I) : Modern library has to cater to the societal information needs
Statement (II) : Library is a social institution

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270141797. 1

878270141798. 2

878270141799. 3

878270141800. 4

Question Number : 140 Question Id : 87827036063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

= 3 o U e €
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(1) YT 1SR HAF 11 TH 5 §
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(4) T 3 €, oAfhT KT T4 ¢
Options :

878270141797. 1

878270141798. 2

878270141799. 3



878270141800. 4

Sub-Section Number : 2
Sub-Section Id : 8782701522
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Read the following passage and answer the following question :

India has a long and venerable history in the field of higher education. In ancient times, the country
was known to have been home to the oldest formal universities in world. These ancient universities were
tich with library of contemporary reading materials like manuscripts. The nature of higher education in
ancient India was considered as religious. The basic religions were Hinduism, Buddhism and Jainism.
Religion based education in ancient India had a outstanding role in creating, transforming and
transmitting knowledge to the peaple in society. The more striking of these ancient universities were
Takshashila (Now in Pakistan), Nalanda (in the modern state of Bihar) and Ujjaini (in modem Madhya
Pradesh). These were in the early times of Indian Civilization and attracted students from all parts of
India, Central Asia, China and South East Asia. The Hindu Buddhist University of Takshashila, the
oldest one, was probably established in ot century BC. The role of Takshashila as a knowledge centre
grew stronger day by day for nurturing students. Unfortunately, Takshashila University was destroyed
by the White Huns (Ephthalites) around 460 AD. In 1193, Nalanda University and its library with 9
million manuscripts was sacked and burnt and totally destroyed by Bakhtivar Khilji. This event not only
ended the University, but was also followed by arapid decline in the practice of Buddhism in India. In
1235, Sultan [ltutmish completely destroyed Ujjaini, a major knowledge centre for Mathematics,
Literature, Philosophy and Astronomy. History of higher education in India and its library system had
thus begun its journey quite with a bang, which had to face temporary hindrance in the form of outside
invasion. Itis significant that at exactly the same time, half way across the world, Oxford University was
being established. The libraries of Institutions of higher education are recognised as a most important
agency of social change involved in the Human Resource Development of the Country. The socio historical
journey of higher education has been started with an ancient system of education in the Vedic period,

In pre British days Hindus and Muslims were educated through Patthsala and Madrassa
respectively. The ideas and pedagogical methods of education during the colonial period from 1757 to
1947, were contested terrain. The commercial British East India Company ruled parts of India from
1764 to 1858, In 18t century a few company officials became Scholars of Sanskrit, Persian and Tamil
and promoted ‘Oriental’ learning which was classical, devotic leaming inindigenous languages. However,
they were outnumbered by Anglicists, those who denegrated ‘Oriental’ learning and advocated the
introduction of institutions of western leaming based upon the British curriculum with English as the
medium of instruction. By the early 19th century, when English was made the official language of
Government business, British policy promoted a cheap, frickle-down model for colonial education. When
the British crown abolished company rule in 1858, Government universities existed at Bombay (Mumba),
Calcutta (Kolkata), and Madras (Chennai); about two thousand students studied at thirteen government
colleges in all of British India, and another 30,000 students were in Government Secondary Schools.

Sub questions

Question Number : 141 Question Id : 87827036065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the foll{)wing was not practiced in l'eligion-based education in Ancient Indian Universities ?
(1) Jainism
(2) Hinduism
(3)  Christianity
(4) Buddhism
Options:
878270141801. 1
878270141802. 2
878270141803. 3

878270141804. 4

Question Number : 142 Question Id : 87827036066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The higher education and library system of Ancient India had venerable history that :
(1) had faced a kind of impediment in the form of outside invasion
2

had witmessed alh'acljng students restricted from Indian lerritar}s’ only

22

(
(
(4

; had promoted education with the financial support from ephthalities

) had witnessed the non-religion based education for Indian students only
Options :

878270141805. 1

878270141806. 2

878270141807. 3

878270141808. 4

Question Number : 143 Question Id : 87827036067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the [nllowing is correct in respect of three universities and their libraries of Ancient
India?

(I) Sultan [tutmish had demolished the Nalanda, Bakhtiyar Khilji had knocked down the
Takshashila and White Huns destroyed the Ujjaini

(2) Ujaini was destroyed by Bakhtiyar Khilji, Nalanda was demolished by White Huns and
Takshashila was ruined by Sultan [ltumish

() Sultan Nltutmish designed and created Ujjaini, White Huns developed Takshashila and
Bakhtiyar Khilji established Nalanda

(4)  Sultan Iltutmish had destroyed Ujjaini, White Huns had destroyed Takshashila and Bakhtiya
Khilji had destroyed totally Nalanda

Options:

878270141809. 1

878270141810. 2

878270141811. 3

878270141812. 4

Question Number : 144 Question Id : 87827036068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the correct geographical location of the three universities of Ancient India ?

(I) Nalanda is in the modern state of Madhya Pradesh, Ujjaini is in modern Pakistan and
Takshashila is in modern Bihar

(2) Nalanda is in modern Rajasthan, Ujjaini is in modern Chhatisgarh and Takshashila is in
Modern Bihar

(3) Nalanda is in modern Bihar, Ujjaini is in modern Madhya pradesh and Takshashila is in
Pakistan

(4) Nalanda is in modern Jharkhand, Ujjaini is in modern Uttarakhand and Takshashila is in
modern Odisha

Options :

878270141813. 1
878270141814. 2
878270141815. 3

878270141816. 4



Question Number : 145 Question Id : 87827036069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
British policy promoted a cheap model for colonial education in India in nineteenth century.
(1) by introducing an ancient system of Vedic education in the British Curriculum
(2) by nurturing more the nature of the religion based higher education in ancient India.
(3) by making English as the official language for government business in addition to making
English as medium of instruction
(4) by establishing Oxford university in UK
Options :
878270141817. 1
878270141818. 2
878270141819. 3

878270141820. 4

Question Id : 87827036064 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Read the following passage and answer the following question :

Today Intemet is possibly the most widely used information source in the world. With an aim to reach
Internet to those who are still unreached, several tech farms have come forward with novel ideas. Google
Sundar Pichai CEO started experimenting with project Loon, which plans to launch a series of balloons
that can help people get connected by beaming Internet signals down to base stations in 2013. One year
later, the north-eastern Brazil, it ran its first test, using Long-Term Evolution (LTE), also known as 4 G,
to connect a school computer in a rural village to the Internet. And in March 2014, Facebook announced
plans to make internet available to regions of the developing world by using drones and an array of low
Earth orbiting satellites. Facebook founder and CEO Mark Zuckerberg also helped to create
internet.org, a consortium of companies, working towards the same goal.

(The man who conceived the innovative idea of Outernet is Syed Karim, a library science drop-out
and founder CEO of Outernet.) Then came up Outernet Inc., a Chicago based datacast company, being
incubated by a New York City- based non-profit organization, the Media Development Investment Fund,
with a plan to launch hundreds of low-cost miniature satellites, known as culesats (cube satellites), into
orbit around the Earth to create the Outernet, a wireless connection to the web available for free to every
person in the world. Each cubesat receives data from a network of ground stations around the world
and transmits this information ona loop until new information is received. This means using the Outernet
will be more like walching a programme broadcast on TV. Outernet users will build a priority list for the
information they want and make suggestions for new contents. [n addition to providing free access, the
Outernet will also be universally available, allowing people to bypass censorship laws prevalent in many
countries. The Outernet, as envisioned, would effectively be a one-way connection data would flow
from feeders to the sattellites which would broadcast to all below. As such, it would not provide e-mail
or other chat facilities. But Internet-less users would be able to request for specific content by sending its
operators an SMS text message or letter. Net~connected organizations can, however, pay a free to have
their own materials added to broadcasts at specific times, providing a source of revenue.
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Who among the following had conceived the innovative idea of outernet ?

(1) Mark Zukerberg

(2) Syed Karim
(3) Sundar Pichai
(4) Harlan Mandel
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The outernet is envisioned to be effective for internet-less users.

(1) Dy establishing a two way realtime connection effectively

(2) by providing e-mail or other chat facilities as such

(3) by sending an SMS text message or a letter to its operators to request for specific content
)

4

by establishing whatsapp connection
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Which of the following is an initiative to provide internet facilities to the people who are unable to

derive the benefit of it ?

(I) A plan of google to make internet available to regions of the developing world by using
drones

(2) A plan to connect a school computer in a rural village by Media Development Investment
Fund

(3)  Aninitiative to launch computers more in numbers in different regions

(4)  An initiative of google that plans to launch a series of balloons to help people get connected
by beaming internet signals down to base station
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The plan of launching hundreds of low cost miniature satellites that would create outernet is to
(1) establish a wireless connection to the web available for free to every person in the world
(2) use Long Term Evolution (LTE) to connect computers of rural village

(3) find Google's digitisation to provide access to millions of books

(4)  scan millions of books and send them using e-mail facilities
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Which of the following is true as far as functionalities of cubesats is concerned ?

(I)  Outernet cubesat functions just opposite to walching a broadcast in television

(2)  Outernet users need not to build a priority list of their desired information

(3) Data are received from a network of a ground station and transmitted on a loop until new
information is received

(4)  Outernet will not be available universally by passing censorship laws prevalent in many
countries
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